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Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Who developed the first interspecific hybrid between sweet William and carnation species of
Dianthus?

1. C.B. Davenport
2. G.H. Shull

3. Rimpau

4. Thomas Fairchild
Options :
85133014401. 1
85133014402. 2
85133014403. 3
85133014404. 4

Question Number : 1 Question Id : 8513303604 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
SHUYY ®I HWie fafegs td oRAZA 6wl U guad: siasidid Ydb §4H drd d3lHd &iF o

7

1. 91, &t 394U

2. SilEd. T
R

4. 419 BOAR S
Options :
85133014401. 1
85133014402. 2
85133014403. 3
85133014404 4

Question Number : 2 Question Id : 8513303605 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which one of the following is a major limiting factor for plant growth and development?

1. Relative humidity
2. Rainfall

3. Temperature

4. Wind velocity
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Options :

85133014405. 1
85133014406. 2
85133014407. 3
85133014408. 4

Question Number : 2 Question Id : 8513303605 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

1Y $i gl AR faera &1 TiHd & 31 81 DRD DHF © 2

2. g4

3. di4HM

4. R a1
Options :
85133014405. 1
85133014406. 2
85133014407. 3
85133014408. 4

Question Number : 3 Question Id : 8513303606 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which one of the following microorganisms live in the root nodules of host plants?
o

1. Azotobacter

2. Azospirillum

3. Phosphorus solubilizing bacteria
4. Rhizobium

Options :

85133014409. 1

85133014410. 2

85133014411. 3

85133014412. 4

Question Number : 3 Question Id : 8513303606 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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1, TElcdaeR

2. UreasaH

3. 1 p XY Grlfdcirs fopT dae
4, JgfeaH

Options :

85133014409. 1

85133014410. 2

85133014411. 3

85133014412, 4

Question Number : 4 Question Id : 8513303607 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: An individual having more than two basic sets of chromosomes is called as

polyploids

Statement IIl: Amphidiploid is an allopolyploid which arises by combining genomes of two

diploid species.
Choose the correct answer from the options given below

1. Both Statement | and Statement |l are true.
2. Both Statement | and Statement Il are false.
3. Statement | is true and Statement || is false.
4, Statement | is false and Statement Il is true.
Options :

85133014413. 1

85133014414. 2

85133014415. 3

85133014416. 4

Question Number : 4 Question Id : 8513303607 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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TPy RTmE .

HU -| - ot oifa & 9T TR &1 &1 © W11 999 § §H1 agifod deand ¢

HYH -1| : SYTOG U@ fa9H-ag101d & il &l Aford efliadl & oi-id & e 9 4T g
IRIF HYHl B FoH H HERiRad aifte Iuge e &1 99+ 39 ;

1. @Y -| T HYF -1l GHI Fal 8

2. ®YF -1 Td YT -1l GHI dd 8

3. @Y -| el g, dih- By - TTad &
4. T - A4 B, T Y -1l Hol 5
Options :

85133014413, 1

85133014414, 2

85133014415. 3

85133014416. 4

Question Number : 5 Question Id : 8513303608 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Given below are two statements:

Statement I: Climate change is a long term change in the weather parameters over a period of
time that ranges from decades to millions of year,

Statement II: Climate sensitivity refers to the long term change in global mean surface
temperature following a doubling of atmospheric CO; concentration.

Choose the correct answer from the options given below

1. Both Statement | and Statement Il are true.
2. Both Statement | and Statement |l are false.
3. Statement | is true and Statement |l is false.
4, Statement | is false and Statement Il is true.
Options :

85133014417. 1

85133014418. 2

85133014419. 3

85133014420. 4

Question Number : 5 Question Id : 8513303608 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

B AE TR
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Grel 9 DI el 6|
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1. PY -| T HYF - GH Fal & |

2. BYF -| T HBYF - T Tad & |

3. @Y -| 9ol g, i By - TTad &
4. @YU -| 0 &, T YA -1l Hol 5
Options :

85133014417. 1

85133014418, 2

85133014419, 3

85133014420 4

Question Number : 6 Question Id : 8513303609 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Henri-Michaelis-Menten equation represents the kinetic values of enzymes as

__ Km + [5]
__Pﬁnﬂx[S]

Statement II: The smaller the value of Km, the more strongly the enzyme binds the substrate.
Choose the correct answer from the options given below

1. Both Statement | and Statement |l are true.
2. Both Statement | and Statement |l are false.
3. Statement | is true and Statement |l is false.
4, Statement | is false and Statement Il is true.
Options :

85133014421. 1
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85133014422.2
85133014423.3
85133014424. 4

Question Number : 6 Question Id : 8513303609 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

SIEFERER R

BYUT | TS HI b T HHD DI e - AFHIerE Hed ATHH § 58 TSR G2id 5|
_ Km +[5]
B Vmax[5]

DY -1l : Km B HH $HEH TR Tsd U I Jolgg 9 g o

SWRIT Bl & oY 1 Failtd I0gad fddhed &I 999 D1

1. T - T8 BYT - G Hel © |

2. ®YT -1 T BYF -1 Gl TTad &

3. @Y -| 9ol g, Tite HY -1l TTad o |
4, BT -| TOId &, Tith DY -1l TR &
Options :

85133014421. 1

85133014422, 2

85133014423. 3

85133014424, 4

Question Number : 7 Question Id : 8513303610 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Match List | with List Il

List | List II
A. Brassica carinata |.Brassica oleracea x Brassica campestris
B. Brassica juncea Il.Brassica nigra x Brassica campestris
C. Brassica napus Il. Triticum aestivum x Secale cereale
D. Triticale V. Brassica nigra x Brassica oleracea

Choose the correct answer from the options given below:

1. A-1V, B-1I, C-1, D- I
2. A-1,B- 1V, C-1Il, D- 1
3. A-11, B-1I, C-1, D- IV
4 A-11, B-1I, C- IV, D- |
Options :

85133014425. 1
85133014426.2
85133014427.3
85133014428. 4

Question Number : 7 Question Id : 8513303610 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

gl - 1 &1 gt - 11 Y FHe &y -

Tl - | g -1l
(A) SBT S (1) SRS HIRRA X 6 SRy
(B) Sf@T SR (1) sffy@r AT x dfe Uiy

C) T 5ug (i fefedy vaeian X R fRkad
(D) fedtana (V) RIS AI5aT X ST SfieriRm
el fou 7y faedl & O 81 ST &1 9894 &3 ;

1. (A) - (IV), (B) - (1), (C) - (1), (D) - (1)

2. (A) - (1), (B) - (IV), (C) - (1), (D) - (1)

3. (A) - (1), (B) - (1), (C) - (1), (D) - (IV)

4. (A) - (11), (B) - (1), () - (1v), (D) - (1)

Options :
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85133014425. 1
85133014426. 2
85133014427.3
85133014428. 4

Question Number : 8 Question Id : 8513303611 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Match List | with List 1l

List | List II
A. Homokaryons .. Protoplasts fusion of two different species.
B. Heterokaryons Il. Union of two protoplasts of the same species.
C. Intertribal hybrids lll. The normal protoplast of one species and

nucleus less protoplast of other species.

D. Cybrids V. Protoplasts fusion between plants of two
different families.

Choose the correct answer from the optiens given below:

1. A-11, B- 1, C- IV, D-1lI
2. A-11,B-1I, C-1, D- IV
3. A-1I, B-1, C-1ll, D- IV
4 A-1IV, B-1, C-1ll, D=1
Options :

85133014429. 1
85133014430. 2
85133014431.3
85133014432. 4

Question Number : 8 Question Id : 8513303611 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Ol - 1 Ol - 1l

(A) BHIBIRHM |(1) & fafid usifoal &1 siasd

{ﬁﬂ}éf‘é rear | & T Uedd! & wiaacd & 98]

(C) SfdR™ |1y Teh WelTdl &1 YT Slidgod Ud GOl ol &l
Gy hadiied diasd

(D) IEfge  |1v) < 9 ©a & Ul &1 Siaged 99

- feu 7w faseul & ¥ 951 3Tk @1 999 B
1. (A)-(I1), (B) - (1), (C) - (IV), (D) - (1)

2. (A) - (1), (B) - (1), (C) -(1. (D) -(IV)

3. (A) - (I, (B) (), (€) - (), (D) - (IV)

4. (A) - (IV), (B) - (I), (©) - (), (D) - (1)
Options :

85133014429. 1
85133014430. 2
85133014431.3
85133014432. 4

f GETITON )
| P Google Play |

Question Number : 9 Question Id : 8513303612 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

Match List | with List 11

List | List Il
A. Duplicate gene action l. 9:6:1
B. Inhibitory gene action 1. 12:3:1
C. Masking gene action I 13:3
D. Polymeric gene action V. 15:1

Choose the correct answer from the options given below

1. A- 1V, B-1Il, C-1I, D- |
2. A-1,B-1,C-1ll, D- IV
3.A-1L B-IV, C-1, D-1I
4. A-11, B-1,C- 1V, D- Il
Options :
85133014433. 1
85133014434. 2
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85133014435.3
85133014436. 4

Question Number : 9 Question Id : 8513303612 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
gl - 1 &1 gt - 11 Y foeE &

Tl - | _ Tl - 1l
(A) Skiidhe Wi TarH () 9:6:1
(8) STt ofiF TaeH (1) 12:3:1
(C) TTREHIT Wi TaEH (i 13:1
(D) UIIAR Sl T (IV) 15:1

=1 f&u 70 fashedl & 9 gl [9eed & Tg &1 98- 31

(A) - (IV), (B) - (M) , (C) - (1), (D) - (D)
2. (A) - (1), (B) - (), (C) - (1), (D) - (IV)
3. (A) - (1), (B) - (IV), (€) - (), (D) - (W)
4. (A) - (I, (B) -(1). () - (IV), (D) - (I
Options :
85133014433. 1
85133014434.2
85133014435. 3
85133014436. 4

Question Number : 10 Question Id : 8513303613 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Match List | with List Il

List | List Il
A. Rhizobium trifolii . Glycine max
B. Rhizobium meliloti . Trifolium alexendrinum
C. Rhizobium phaseoli IIl. Madicago sativa
D. Rhizobium japonicum V. Phaseolus vulgaris

Choose the correct answer from the options given below:

T.A-1L,B-1I, C-1, D- IV
2. A-11,B-1,C-1lIl, D- IV
3. A-11, B- 1, C- IV, D- |
4 A-1, B-1I, C- IV, D- |
Options :

85133014437. 1
85133014438.2
85133014439. 3
85133014440. 4

Question Number : 10 Question Id : 8513303613 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Page - 12


https://link.testbook.com/bQQ2EkH1bpb
https://link.testbook.com/bQQ2EkH1bpb

A testbook

el - | D gt - 1| Y e &1

Ol - |

gl - 1l

(A) TSTNIGH ZIZHIcH

() TG T

(B) TETIGTH Hicraiel
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[
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=1 feu U fameal § ¥ 9! faded &1 90 @9 ;

1. (A) - (D), (B) - (1), () - (1), (D) - (V)
2. (A) - (1), (B) - (1), (C) - (1), (D) - (IV)
3. (A) - (1), (B) - (1), (C) - (V). (D) - (D)

4. (A) - (1), (B) - (1), (<€) - (V). (D) - ()
Options :

85133014437. 1
85133014438. 2
85133014439. 3
85133014440. 4

Question Number : 11 Question Id : 8513303614 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Read the following statements related to reasons for Mendel's success:

A. He made an accurate and incisive analysis of the reasons for the failure of earlier workers.
B. At first, Mendel studied the inheritance of only one pair of contrasting characters at a time.
C. Mendel carried out his experiments with great care and elaborateness.

D. Mendel selected pea varieties that had clearly different forms of one or more characters.
Choose the correct answer from the options given below with group having true statements:

1. A, B and Conly
2. B, C and D only
3. A, Cand D only
4 A B CandD
Options :
85133014441. 1
85133014442.2
85133014443.3
85133014444. 4

Question Number : 11 Question Id : 8513303614 Question Type : MCQ Option Shuffling : No Display
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Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Ausd & Yhadl @ HRUI 4 GG dYHl &1 Ue :

A) 39 U4 H BRIPqIe] B Bl & DRUN Bl TheH Ug! U4 Te- [GReiyu &

B) HUSH - WAWYH dad Ud QUi TaUll aid wils &1 Us 99 § SdiId e fddl|
(C) AUST H 31U+ WRI&U &f dgd WrauHi Ud fa¥gd/ 9iad &9 3§ a7l

(D) HUEd 4 TeX @ foe! &1 994 foon [ 9H U@ U9 3@ &0 9% a [aidd ©41 3 §id 8

e fadey o1 99 oY ;

1. %ad (A), (8) T4 (O
2. @4d (B), (O) T (D)
3.@4d (A), (O) T (D)
4. (A), (B), (C) Td (D)
Options :

85133014441. 1
85133014442. 2
85133014443. 3
85133014444. 4

Question Number : 12 Question Id : 8513303615 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Read the following statements regarding features of genetic material:

A. The genetic material must be replicated so that its flawless copies are produced.

B. The genetic material must be able to express itself.

C. The structure of genetic material must be able to store the highly variable information.
D. The genetic material must allow errors in a low frequency.

Choose the correct answer from the options given below

1. A, B and C only
2. B, C and D only
3. A, Cand D only
4 A B CandD
Options :
85133014445. 1
85133014446. 2
85133014447. 3
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Question Number : 12 Question Id : 8513303615 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
AP gl @ fariars & dey o Ay oyl @1 g

A) AR Terd # ORI 811 91y o 8@ FR= uiadl §4d1 T |

(B) HTIERT® Uary & AU 31T & g2 S &5 giH1 F1fRu)

(C) AaRI® Uard & Ta-1 § dgd SifUd SRR Y1 & Y980 &3 &1 &Hdl siHl diieU|
(D) RIS uer Tafdl ®f Ueh &4 sRWRAl § Widd dF diieu|

I fag 1 faseal § § OEl faded U4 &1 98 &4

1. dd (A), taﬂﬁ (@)
2. ®ad (8), (C) T4 (D)
3. Had (A), () thD]
4.(A) (B), (Q T (D)
Options :
85133014445. 1
85133014446. 2
85133014447. 3
85133014448. 4

Question Number : 13 Question Id : 8513303616 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Read the following statements:

A. Raffinose is a trisaccharide.

B. Maltose is a disaccharide.

C. Insulin is a structural polysaccharide.

D. Chitin is a storage polysaccharide.

Choose the correct answer from the options given below

1.Cand D
2.BandC
3.Aand B

4 Aand D
Options :
85133014449. 1
85133014450. 2
85133014451. 3
85133014452. 4

| GETITON ‘
‘\ Google Play

Question Number : 13 Question Id : 8513303616 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

EE T KR
(A) B TP TgdaEs &

(B) ATee Sl U SEUPES ol

(C) ST U TEId® Ulei DS s ol

(D) FI3fe Te Tifed UldAdEs ol
i feu e famedl 5 9 92! [dded & HE &1 949 $e ;

1. (C) ¥4 (D)

2. (B) T (C)

3. (A) TG (B)

4. (A) T4 (D)
Options :
85133014449. 1
85133014450. 2
85133014451, 3

85133014452. 4
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Question Number : 14 Question Id : 8513303617 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Sickle-shaped horns are characteristic of which breed?

1. Surti

2. Jaffarabadi
3. Murrah

4 Mehsana
Options :
85133014453. 1
85133014454.2
85133014455.3
85133014456. 4

Question Number : 14 Question Id : 8513303617 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
eI R T fiol 73d @1 fagiudi & 7

1. g3

2, SIpREre

3. 13

4, HEgAT
Options :
85133014453. 1
85133014454.2
85133014455.3
85133014456. 4

Question Number : 15 Question Id : 8513303618 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which is the origin of Gir breed?

1. Hyderabad
2. Junagarh
3. Haryana

4, Nagaur
Options :
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85133014457. 1
85133014458. 2
85133014459. 3
85133014460. 4

Question Number : 15 Question Id : 8513303618 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
TR %7 Bl I ™A el 8 ?

)

1. pGaRiglG

i

.l

4, AFIR
Options :
85133014457. 1
85133014458. 2
85133014459. 3
85133014460. 4

Question Number : 16 Question Id : 8513303619 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Read the following statements:

A. Kankrej is the heaviest breed of cattle.

B. Ongole is a milch breed of cattle.

C. Malvi is a draft breed of cattle.

D. Khillari is originated from Sholapur.

E. Red Sindhi is a milch breed of cattle.

Choose the correct answer from the options given below

1.A CandD
2B CandD
3CDandE
4 A DandE
Options :
85133014461. 1
85133014462.2
85133014463.3
85133014464. 4
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Question Number : 16 Question Id : 8513303619 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

ﬁgﬁﬁﬁﬁlﬁ:

(A) BT Ta9 YR T @1 7942 3

B) I U GUIE % &1 Ha=i 8|

(C) ATTd] T BB e ®] 74420 o

(D) FEaRl &1 Jad ®IH Mg 81

(E) O el Ud gURE % ! Hadil B

i fau 7t fasedl 1 UEl faded & 94g &1 99 $1 ;

(A), (C) ¥4 (D)
{5}")¥Hra)
(C), (D) €d (E)
.(A), (D) ¥4 (E)
Options :
85133014461. 1
85133014462. 2
85133014463. 3
85133014464. 4

Tl

Question Number : 17 Question Id : 8513303620 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Given below are two statements:

Statement |: Rhode Island Reds is an English class poultry which is famous for its meat

production.

Statement II: Minorca is a Mediterranean breed of poultry and is famous for its excellent

production of large white eggs.

In light of the above statements, choose the most appropriate answer from the options given

below:

1. Both Statement | and Statement |l are true.
2. Both Statement | and Statement |l are falze.
3. Statement | is true and Statement |l is false.
4. Statement | is false and Statement Il is true.
Options :

85133014465. 1

85133014466. 2

85133014467. 3

85133014468. 4

Question Number : 17 Question Id : 8513303620 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Hid feu e gHf Syl @1 08
HYF -1 TS - AFATS IS TP Shael 4ufl B Pape & ol 319 IAG & ol [9ed B

&Y -1l : RS U YHEUFRIY Sode 95 & ol 9the U1 o 98 US| & 3 Y 306 Sl
H

SWRidd Tyl & T5H H 4 Halitd 39gad [adbed &l 90+ P :

1. BY -| T BYF -1l S Fal 8

2. BY -| T4 HYA -|| GHI Tad &

3. ®Y -| TEl &, 7fp- &Y -1l Tad 8
4. HYF -1 T0d & , Al HYF -1l Tgl 8l
Options :

85133014465. 1

85133014466. 2

85133014467. 3

85133014468 4
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Question Number : 18 Question Id : 8513303621 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Match List | with List Il:

List | List 1l
A, Female sheep l. Mutton
B. Male sheep . Ewe
C. Young sheep l1ll. Ram
D. Meat of sheep IV. Lamb

Choose the correct answer from the options given below:

1. A- IV, B-1Il, C-1I, D- |
2. A-11, B- I, C- 1V, D- |
3. A-1Il, B- 11, C- 1V, D- |
4 A-1,B-1I,C- 1V, D- 1l
Options :

85133014469. 1
85133014470. 2
85133014471. 3
85133014472. 4

Question Number : 18 Question Id : 8513303621 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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el - | D gt - 1| Y e &1

‘ { GETITON

® GooglePlay |

Ol - | gt - 11
(A) FITGT HS 1) He
(B) R4S () 39
ga¥s UDEL]
D) & &1 HY (Iv) o

T feu 7T fadhedl § 9 Iailye® 3ugad Ul fddbed & THg &I 99 @1 -
1. (A) - (IV), (B) - (1), (C) - (IN), (D) - (1)

2. (A) - (), (B) - (1), (€) - (IV), (D) - (1)

3. (A) - (1), (B) - (1), (C) - (IV), (D) - (1)

4. (A) - (1), (B) - (IN), (C) - (IV), (D) - (1)

Options :

85133014469. 1
85133014470. 2
85133014471. 3
85133014472. 4

Question Number : 19 Question Id : 8513303622 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Given below are two statements

Statement I: A dairy building should be located for maximum exposure to the sun in the
Morth and minimum exposure to the sun in the South.

Statement II: Scils of the dairy building foundation should be dehydrated or completely
desiccated.

In light of the above statements, choose the most appropriate answer from the options given
below:

1. Both Statement | and Statement Il are true.
2. Both Statement | and Statement Il are false.
3. Statement | is true and Statement |l is false.
4, Statement | is false and Statement Il is true.
Options :

85133014473. 1

85133014474.2

85133014475. 3
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Question Number : 19 Question Id : 8513303622 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

- feg g g T @1 Ug

DY - | T STRI HaA ] Jokl 16201 D1 Ga4 G161 4T G4 o {618 o g1 aul oiamn fean &1
el ®H YA g & fore gar g1 anfey|

HY - || G @] o1 gUl 9 § G9E1 Ud 7H] Ied el 9ned|
SWRIad BYHl & TaH H Failts Tol fddhed o 98- B :

1. ®YT - | Td HYF - || ST Fol &

2. ®YF - | Td DY - || ST Tad o

3. ®Y - | Gel & tidd &Y - 1 TTad &
4, BT - | TTad & i U - || Hel &
Options :

85133014473, 1

85133014474, 2

85133014475. 3

85133014476 4

Question Number : 20 Question Id : 8513303623 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Match List | with List Il

List I

List II

A.Succulent roughages

|. Grains and roots

B. Dry roughages

Il. Cil cakes and blood meal

C.Energy concentrates

lll. Tree leaves and silages

D.Proteineous concentrates

IV. Hay and straw

Choose the correct answer from the options given below:

1. A-1ll, B- IV, C- I, D- |
2. A-11, B-IV, C-1, D-1I
3.A-1, B-I, C-1, D- IV
4 A-11, B-1V, C-1, D- I
Options :

85133014477. 1
85133014478.2
85133014479. 3
85133014480. 4

>

GETITON

® GooglePlay |

Question Number : 20 Question Id : 8513303623 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

gl - 1 &1 gt - 11 Y FHe &y -

Tl - | gl - 1l

(A) DIHT TR UEELCEE

(B) &I IRT (Il) Wity Tdcil Ud &S Oid
C) FeliaHd & (1) US & uidl ud dgde
D) Widigad GH (IV) & T8 &

7 fou 70 fadhedl § 4 Ul [ddhed GHE &1 994 &1 ;

1. (A) - (1), (B) - (IV), (C) -
2. (A) - (1), (B) - (IV), {
3. (A) -(11), (B) - (1), (C) - (I
4. (A) - (I, (B) - (IV), (C) - (1),
Options :

(). (D) - ()
C) - (1), (D) - (1)
)

(D) - (V)
(D) - (1)
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85133014477. 1
85133014478. 2
85133014479. 3
85133014480. 4

Question Number : 21 Question Id : 8513303624 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Match List | with List 1l

List I List II
Animal Floor space required
A. Cows . 100 - 120 sq.ft
B. Buffaloes Il 20 - 30 sq.ft
C. Calf ll. 25 - 30 sq.ft -\
D. Pregnant cows IV. 15 - 20 sq.ft

Choose the correct answer from the options given below:

T.A-1,B-1l, C-1Il, D- IV
2. A-111, B-1I, C- IV, D- |
3. A-1,B-1, C- 1V, D-1
4 A- 1, B-1lIl, C- IV, D- |
Options :

85133014481. 1
85133014482. 2
85133014483. 3
85133014484. 4

Question Number : 21 Question Id : 8513303624 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Tl - | H 168 T8 AHaR] & fo78 i - 11 3 168 T 4R1da &9 (@ i) 4 e &

Ol - | gl - 1

(A) T () 100 - 120 I
(B) #H (I1) 20 -30 FBIE
(C) §B31 (Il1) 25 - 35 GBI
(D) T1fa 7T (IV) 15 - 20 GiIe

T fou TIE fadhedl § 9 Tallte Sugad 9 ed & THE & 99 DX ;

1. (A) - (1), (B) - (1), (C) - (IIn), (D) - (IV)
2. (A) - (1), (B) - (1), (C) - (V). (D) - (D)
3. (A) - (1), (B) - (), (C) - (IV), (D) - (1)
4. (A) - (1), (B) - (), (<) - (V). (D) - ()
Options :

85133014481. 1

85133014482. 2

85133014483.3

85133014484. 4

Question Number : 22 Question Id : 8513303625 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Read the following statements:

A. Rinderpest is a viral disease of animals.

B. Foot and mouth disease is caused by an ultra-filterable virus.
C. Milch fever is a physiological disorder in animals.

D. Mastitis is caused by calcium deficiency.

E. Anthrax is a viral disease of animals.

Choose the correct answer from the options given below:

1.Band C

2. DandC
3.Aand C

4 DandE
Options :
85133014485. 1
85133014486. 2
85133014487. 3
85133014488. 4
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Question Number : 22 Question Id : 8513303625 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

g Ty B DT:.T :

(A) Re=¥Uw us fau] © g arell uRisl &1 98K 5|

(B) GIUD1 U9 HeUd! SHRT HidaH- g fqur gR1 il 8|

(C) U # g7 SR TP e PR B

(D) Y-IcT BRI Bicadd @ BHI & PR B g

(E) U3 H U=iey Udh faum] wifad diarl 2 |

SR Y & T H U Ualid el fadwedl o YHE &1 99 Y ;

. (B) &4 (C)
(D) (O
(A) T (C)
.(D) W (F)
Options :
85133014485. 1
85133014486. 2
85133014487. 3

85133014488. 4

L

Question Number : 23 Question Id : 8513303626 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Read the following statements:

A. In the world, India ranks first in milk production.

B. Milk does not contain Vitamin C.

C. Colostrum of cow contains 3.1 % lactose and 3.6 % fat.

D. Freshly drawn milk has a pH value of 6.5 to 6.7.

E. Buffalo milk is considered as the best milk for a human being.
Choose the correct answer from the options given below:

1. A, Band C
2B, CandD
3.C,DandE
4 A BandD
Options :
85133014489. 1
85133014490. 2
85133014491. 3
85133014492. 4

Question Number : 23 Question Id : 8513303626 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

- feu 77w Syl &1 e -

(A) HRd YR H g8 364 § 0YH ®H W el

B) G ¥ faerti i gl Ul sidi &

C) T & Wi H 3.1 NiA=d daeis U4 3.6 Uiawd a9 8l o |
(D) TSl FiahTdl U gY &1 Ul U HH 6.5 9 6.7 & dId H Bl 8

(E) T4 & T 99 &1 g8 Gay 331 9H ol 5 |
SR Y & G H § Ualitie el fadhed UiE &1 98- &1 ;

1. (A), (B) Td (C)
2. (B), (C) W4 (D)
3. (C), (D) ¥4 (E)
4. (A), (B) ¥4 (D)
Options :
85133014489. 1
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85133014490. 2
85133014491. 3
85133014492. 4

Question Number : 24 Question Id : 8513303627 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Artificial insemination increases the rate of conception and overcomes the
difficulty of size and weight.

Statement II: The first buffalo calf through artificial insemination was born in the year 2000 at
Allahabad Agricultural Institute.

In light of the above statements, choose the most appropriate answer from the options given
below:

1. Both Statement | and Statement Il are true.
2. Both Statement | and Statement |l are false.
3. Statement | is true and Statement || is false.
4, Statement | is false and Statement Il is true.
Options :

85133014493. 1

85133014494. 2

85133014495.3

85133014496. 4

Question Number : 24 Question Id : 8513303627 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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gl Pyl Bl Ug :

DY - | : AT THIYH F THYRY &3 9gdl & YT HDR Ud YR & GH- I e sidl &

DY - 11 : PIEAA THIHH T HY BT Ugal 9881 T 2000 H Felor6Ie Sy TR 5 UaT g1 Ul

SR YA & G H U Yaiie 3ugad fadbed ol 9g- B :

1. YT - ITd HYT - I GHI T8I & |

2. BYT - ITd HYF - 1 GHf Tad 8

3. @Y - | 98l & il &Y - 1 TTad e
4. YT - | TT0d & did &Y - || Hel B
Options :

85133014493, 1

85133014494, 2

85133014495, 3

85133014496, 4

Question Number : 25 Question Id : 8513303628 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Match List | with List Il regarding the quality of semen:

List | List Il
A. Thick creamy . Fair
B. Thin creamy Il. Very good
C. Thick milky I1l. Excellent
D. Thin milky IV. Goed

Choose the correct answer from the options given below:

T A-1Il, B-1l, C-1, D- IV
2. A-1I, B-1I, C- IV, D- |
3A-1,B-1I,LC-1IV, D- |
4 A-|,B-1I,C- I, D- IV
Options :

85133014497. 1
85133014498. 2
85133014499. 3
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85133014500. 4

Question Number : 25 Question Id : 8513303628 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Tl - | U9 i - 11 5 <1 972 91 T0ra o el oy

i - | g - 1

A) TR i (1) 3Ed

(8) g S (1) Sgd 3=
(C) T G o EEEEE]
(D) TeIel G ST (IV) 33T

7 feu 7e famedl & § 9od 981 f[dded © 94 @1 909 1

1. (A) - (1), (B) - (1), (€) - (), (D) - (V)
2. (A) - (1), (B) - (1), () - (V). (D) - (D)
3. (A) - (1), (B) - (1), (C) - (V). (D) - (D)
4. (A) - (1), (B) - (1), (<) - (I, (D) - (IV)
Options :

85133014497. 1
85133014498. 2
85133014499. 3
85133014500. 4

Question Number : 26 Question Id : 8513303629 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

What was the wheat production in India during the year 2018-197

1. 103 million tonne
. 82 million tonne
. 113 million tonne

[ S

. 83 million tonne
Options :
85133014501. 1
85133014502. 2
85133014503. 3
85133014504. 4

Question Number : 26 Question Id : 8513303629 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

99 2018-19 § YR ¥ 71§ @1 IdIGH faoc=1 Y1 ?

1. 103 e &4
2. 93 oA 24
3. 113 Bfema &
4, 83 Hfe@T &4
Options :
85133014501. 1
85133014502. 2
85133014503 3
85133014504 4

Question Number : 27 Question Id : 8513303630 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which of the following nutrients becomes more available with increasing soil pH?

1. Manganese
2. lron

3. Sulphur

4. Molybdenum
Options :
85133014505. 1
85133014506. 2
85133014507. 3
85133014508. 4

Question Number : 27 Question Id : 8513303630 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
ge1 ¥ Ulud. 3fE & 9y g Uid awd &1 Suced sedl o

1. A

2. Tl

3. Helhd

4, HiciieaH
Options :
85133014505. 1
85133014506. 2
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85133014507. 3
85133014508. 4

Question Number : 28 Question Id : 8513303631 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

What is the seed rate of short duration pigecn pea for line sowing?

1. 5-10 kg/ha
2. 15-18 kg/ha
3. 10-12 kg/ha
4. 20-25 kg/ha
Options :
85133014509. 1
85133014510. 2
85133014511. 3
85133014512. 4

Question Number : 28 Question Id : 8513303631 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
gl 3REY &l PaR fafY ¥ 991 J deiet e el & 7

. 5-10 fheid™ Uid B R
2.15-18 fpau™ ufd gaem
3.10-12 foodlum ufd g R
4. 20-25 fohdum ufd eRmR
Options :

85133014509. 1
85133014510. 2
85133014511. 3
85133014512. 4

Question Number : 29 Question Id : 8513303632 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Read the following statements:

A. Rice is a water-loving crop and it can be grown under diverse ecosystems,

B. Rice is established in the field through transplanting, direct sowing and sprouted seedling.
C. The productivity of rice is 3.9 t/ ha in India.

D. India ranked first in area and production of rice in the world.

E. Around 50 % of the total area of rice is irrigated in India.

Choose the correct answer from the options given below

1. A, Band C
2B, CandD
3.C,DandE
4 A BandE
Options :
85133014513. 1
85133014514.2
85133014515. 3
85133014516. 4

Question Number : 29 Question Id : 8513303632 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

fofRed &=l @ ufeu -
A) 4 T SRl HUd B, Ud 34 fafy uiikiufae ot 3 S o gadr 2
B) Y 1 U & YIURIH-RU, Hiell 9415 Ud 3HPd gals sR1Wd § qal widi 6 |

C) YRd H U1 &1 Sdcdhdl 3.9 25 Uid sae R 8|

(D) &9 & &FHd U8 3died 8 YRa &1 g H ygar W 8|
(E) YRd & 4 & od eF%a & I T 5o ufawa ka8
9 o U U2 yA! 9 g &1 994 Y

1. (A}, (B), (C)
2. (B), (C), (D)
3. (C), (D), (B)
4. (A), (B), (E)
Options :
85133014513. 1

85133014514. 2

(
(
(
(
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85133014515.3
85133014516. 4

Question Number : 30 Question Id : 8513303633 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Given below are two statements:

Statement I: Nearly 90 % of the total sulphur in most of the non- calcarecus surface soils
exists as organic forms.

Statement II: Denitrification losses of nitrogen can be reduced under aercbic conditions.

In light of the above statements, choose the most appropriate answer from the options given
below:

1. Both Statement | and Statement Il are true.
2. Both Statement | and Statement Il are false.
3. Statement | is true and Statement || is false.
4, Statement | is false and Statement Il is true.
Options :

85133014517. 1

85133014518. 2

85133014519. 3

85133014520. 4

Question Number : 30 Question Id : 8513303633 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
DY - | HYDIY HicRTH Aed Yde! Jaldl H d Geb S1 THTHT 90 UiTd Jeb Bld-d
FYH A3

DY - || IAY TR H Argeiad & faAsicd o gR1 319 & &H (6l ol Hddl ¢ |
IWRIF DYH[ b GoH H Fallted Iugad [dbed BT 99 HU ;

1.PYT - ITdHYT - I T TR & |

2. BYT - ITdHYT - 1 GHI Tad & |

3. @Y - | Tal &, diced &Y - 11 7Tad g
4. @Y - | TT0d &, i &Y - || T8l 5
Options :

85133014517. 1
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85133014518. 2
85133014519.3
85133014520. 4

Question Number : 31 Question Id : 8513303634 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:
Statement I: Atmospheric air contains a higher concentration of nitrogen gas.
Statement lI: Soil air contains a lower concentration of carbon dioxide.

In light of the above statements, choose the most appropriate answer from the options given
below:

1. Both Statement | and Statement Il are true.
2. Both Statement | and Statement Il are false.
3. Statement | is true and Statement || is false.
4, Statement | is false and Statement Il is true.
Options :

85133014521. 1

85133014522.2

85133014523. 3

85133014524. 4

Question Number : 31 Question Id : 8513303634 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
DU - | : AAIERUITY I H A15cle 119 S Wil i gidl B

®Y - || : ol I H Pla- Sls HH5s &) digdl 4 sl &l

IWRIGd HYHl D TeH H galiu® Jugad fddbed & 909 B ;

1. FYT- 1T YT - 1T Fol g |

2. BT - ITdHYT - I GHI Tad & |

3. @Y - | T8l &, Wided &Y - 11 7Tad g
4. @YU - | TT0d &, Tidd &Y - || T8l 5
Options :

85133014521. 1

85133014522.2
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85133014523.3
85133014524. 4

Question Number : 32 Question Id : 8513303635 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Read the following statements:

A. Mixed and intercropping systems are the most suitable cropping system under dryland
condition.

B. Drylands contribute 45% food grains to the total production.

C. Drought is a common phenomenon in drylands.

D. Most of the pulses and oilseeds are grown in irrigated conditions.

E. Nutrient management is more important than soil moisture conservation.

Choose the correct answer from the options given below:

1. A, Band C
2.B,CandD
3CDanak
4 A CandE
Options :
85133014525. 1
85133014526.2
85133014527.3
85133014528. 4

Question Number : 32 Question Id : 8513303635 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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HafaRad fﬁﬂ:ﬁ@qm
(&) eh TR & By yonfedl 8 ¥ fgid Ud Siaieg Bad Wollel Failides Sugdad o
(B) Pa UG 3G H ¥ 45 Uf=rd iR YD H™ Sl 6|

(C) [P &1 @I U1 U WA §1d o

(D) ATYBIR Gl Ua faasl & Rifad &t & ST Sl |
(E) U oed We4 Hal 41 TR&0T ¥ 38 Agwayyl ol
FafeRad [decdl § 9 98l 3T @1 994 31 :

Options :

85133014525. 1
85133014526. 2
85133014527.3
85133014528. 4

Question Number : 33 Question Id : 8513303636 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Read the following statements:

A. The maximum water availability is at saturation.

B. Generally, the evapotranspiration rate is higher in drylands.
C. Water requirement of wheat is 460 mm.

D. Dew bean is the most drought-resistant crop.

E. The maximum irrigated area is under rice,

Choose the correct answer from the options given below:

1.A, Band C
2B CandD
3.C,DandE
4 A DandE
Options :
85133014529. 1
85133014530. 2
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85133014531.3
85133014532. 4

Question Number : 33 Question Id : 8513303636 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

ﬁ’aﬁ‘ﬁéﬁmﬁﬁuﬁq
(A) TJW HTRI R oI BI 3Ucteldl Hf¥mad aidi o

(B) ATHTOTAT: X5 &1 § G - arsdiege @) &% @ gidl 8

(C) T1g B FACTHRT 460 fHcHifFeR B &1

(D) A13 Talfid YT Y- di-dic byd o
F) Haiie Rifgd &7 e J B
9 o O 9et ®yA! 91d 998 1 9899 o ;

wad
E

). (C
I’B‘ (C), (D
(C), [ ), (E
. (A), (D), (E
Options :
85133014529. 1
85133014530. 2
85133014531.3
85133014532. 4

)
)
)
)

T Ll

Question Number : 34 Question Id : 8513303637 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Page - 39


https://link.testbook.com/bQQ2EkH1bpb
https://link.testbook.com/bQQ2EkH1bpb

A testbook | P> GooglePlay |

Read the following statements:

A. Nematodes are obligate parasites.

B. Plant-parasitic nematodes are microscopic and complex organisms.

C. Most of the plant-parasitic nematodes take 20-30 weeks to complete their life cycle.
D. Molya disease of wheat and barley is due to Anguina tritici.

E. Majority of the plant-parasitic nematodes are ectoparasitic in nature.

Choose the correct answer from the options given below:

1. A, Band C
2B, CandD
3.A,BandE
4 A BandD
Options :
85133014533. 1
85133014534.2
85133014535. 3
85133014536. 4

Question Number : 34 Question Id : 8513303637 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

fafaiad oyl o ufeu ;
A) B Afpal welid Bl &
(B) UTGY WRuild] GADIE Y eI Ud Ficd wiid gid o
C) DI UGy YRaiid] GAPH {1 Siia- g5 20 - 30 Ile H I3 $d o
(D) 71§ Ud Sl I HIchl I WAl [EeIaTs & SR Gl &
(E) SHFIPBTR Ty TReidl YAPTH §Tel TRt 51§
el Y[ arcl g &1 99 T ;

1. (A}, (B), (C)
2. (B), (C), (D)
3. (A), (B), (B)
4. (A), (B), (D)
Options :

85133014533. 1

85133014534.2

(
(
(
(
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85133014535.3
85133014536. 4

Question Number : 35 Question Id : 8513303638 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Match List | with List |l

List | List 11
A. Satellite weed . Cichorium intybus
B. Crop-bound weed Il. Sorghum halepense
C. Perennial weed IIl. Grobanche spp.
D. Biennial weed IV. Phalaris minor

Choose the correct answer from the options given below:

1. A-1, B-1I, C-lll, D- IV
2. A-1V, B-1II, C-1l, D- |
3.A-1,B-1, C- 1V, D- 1l
4 A-11, B-M, C-1,D- IV
Options :

85133014537. 1
85133014538. 2
85133014539. 3
85133014540. 4

Question Number : 35 Question Id : 8513303638 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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el - | D gt - 1| Y e &1

Tl - | gl - 1l

(A) Heeze WUdaR () [I@IRgT telsay

(B) T ¢ WITGdR (1) TRET geting

C) 9gaftg WIUdaR (1) iKia-o) e
) feaftfa TRuqar (IV) BaRT T3

g fa@dal J ¥ 981 ST &1 99 33 :

1. (A) - (1), (B) - (1), (C) - (1), (D) - (IV)

2. (A) - (IV), (B) - (), (C) - (1), (D) - (1)

3. (A) - (1), (B) - (11), (C) - (IV), (D) - (11}

4. (A) -(1), (B) - (), (C) - (1), (DY - (IV)

Options :

85133014537. 1
85133014538. 2
85133014539. 3
85133014540. 4

Question Number : 36 Question Id : 8513303639 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Match List | with List I

List | List 1l
A. Alachlor . Glean
B. Chlorsulfuron Il Lasso
C. Clodinafop-propargy! I, Algrip
D. Metsulfuron-methyl V. Topic

Choose the correct answer from the options given below:

1. A-11, B- 1, C- IV, D- Il
2. A-1,B-1, C- 1V, D- Il
3.A-1,B-1, C-1ll, D- IV
4 A-11, B-1II, C- IV, D- |
Options :
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85133014541. 1
85133014542. 2
85133014543.3
85133014544. 4

Question Number : 36 Question Id : 8513303639 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

gl - 1 &1 gt - 11 Y foeE &

Ol - | Tl - i J
_(MWW () @A

(B) TR YRR O

(C) FEINSATRIY HURed (1) AR

(D) e HerRH R (V) SI® A\
afaiod [doedl § © 981 9o @1 98- Bl ;

1. (A) - (1), (B) - (1), (C) - (IV), (D) - (1)

2. (A) - (1), (B) - (11), (C) - (IV), (D) - (11}

3. (A) - (1), (B) - (1), (<€) - (1), (D) - {IV)

4. (A) - (1), (B) - (1), (C) - (V), (D) - (1)

Options :

85133014541. 1
85133014542. 2
85133014543.3
85133014544. 4

Question Number : 37 Question Id : 8513303640 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Match List | with List Il

List I List Il
A. Rice I. Sulfosulfuron
B. Wheat Il. Pretilachlor
C. Maize Ill. Atrazine
D. Soybean V. Imazethapyr

Choose the correct answer from the options given below:

1. A-1V, B- |, C- I, D- Il
2 A-1, B-, C-1, D- IV
3.A-1, B-1,C-1ll, D- IV
4. A-1, B-1,C- 1V, D- Il
Options :

85133014545. 1
85133014546.2
85133014547. 3
85133014548. 4

Question Number : 37 Question Id : 8513303640 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Tl - 1 D Gl - 1| Y e &1 :

Tl - | gl -1l

(A) ¥TH (1) Feh R
(8) Mg (I1) UeteaeiR
(C) HadHT U REEG]

(D) GmameEA (IV) SIESITUTR

fafafad faecdl 5 9 9g! 9o &1 999 33

1. (A) - (IV), (B) - (I), () - (1), (D) - (1)
2. (A) - (D), (B) - (1), (©) - (), (D) - (IV)
3. (A) - (I, (B) - (1), () - {Iln), (D) - (IV)
4. (A) - (1), (B) - (1), (C) - (IV), (D) - (1)
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85133014545. 1
85133014546. 2
85133014547.3
85133014548. 4

Question Number : 38 Question Id : 8513303641 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Match List | with List |l

List | List Il
A. Normal water . 5-10d5/ m
B. Low salinity water Il. =10 dS/ m
C. Saline water Ill. <1.5d5/ m
D. Highly saline water V. 1.5-3dS/ m

Choose the correct answer from the options given below:

1. A-1I, B- IV, C- 11, D- |
2. A-1,B-1I, C- 1V, D-1I
3. A-1Il, B-1, C- 1V, D- |
4 A-11, B-IV, C- 1, D-|
Options :

85133014549. 1
85133014550. 2
85133014551. 3
85133014552. 4

Question Number : 38 Question Id : 8513303641 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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el - | D gt - 1| Y e &1

Ol - | Tl - 1l
(A) THEFY Sid () 5 - 10 ds/m
(B) g TqUiig ofc () > 10 ds/ m
C) Taullg oI () < 1.5 ds/m
D) Hfd Uiy & (IV) 1.5 -3 ds/m
frgfaiad fAocal § 9 U8 3R &1 909 &4 -
1. (A) - (11), (B) - (1), (C) - (IN), (D) - (1)
2. (A) - (), (B) - (1), (C) - (IV), (D) - (1)
3. (A) - (1), (B) - (1), (C) - (IV), (D) - (1)

4. (A) - (1), (B) - (IV), (©) - (), (D) - (1)
Options :

85133014549. 1
85133014550. 2
85133014551. 3
85133014552. 4

[

GETITON

® GooglePlay |

Question Number : 39 Question Id : 8513303642 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

Read the following statements:

A. Flavr Savr is a transgenic variety of tomato.

B. Pusa Sheetal is a drought-tolerant variety of tomato.

C. India stands first in vegetable production.

D. Hisar Lalit is nematode resistant variety.

E. Tomato is winter season vegetable.
Choose the correct answer from the options given below:

1.A, Band C
2.C,DandE
3.A DandE
4B, CandE
Options :
85133014553. 1
85133014554. 2
85133014555. 3
85133014556. 4
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Question Number : 39 Question Id : 8513303642 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
ﬁym&ﬁ’faﬁw&n:

(A) TaR - YT <A &1 o fiEitsn frw &)
(B) THT Sfiaa eH1ex &1 9@ ufoieh i B

(C) HRd @1 Hosll Iadled d JUH M B

(D) fedR wiferd Y fcrid o &1

(E) 2H1eR ¥itd Hd & HYd g
Fafaiad [9wedl 5 4 98] YAl & g aId [ddcd &1 909 BN

- (A), (B), ()
- (C), (D), (E)

- (A), (D), (E)
(B). (C). (E)
Options :
85133014553. 1
85133014554.2
85133014555.3
85133014556. 4

O ¥ S b

Question Number : 40 Question Id : 8513303643 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Given below are two statements:

Statement |: Sodium benzoate is used as a preservative in the product having a natural colour,
whereas potassium metabisulphite is used in a colourless product.

Statement Il: In the dehydration process of fruits and vegetables, more temperature is

required for vegetables as compared to fruits.

In light of the above statements, choose the most appropriate answer from the options given

below:

1. Both Statement | and Statement |l are true.
2. Both Statement | and Statement |l are falze.
3. Statement | is true and Statement |l is false.
4. Statement | is false and Statement Il is true.
Options :

85133014557. 1

85133014558. 2

85133014559. 3

85133014560. 4

Question Number : 40 Question Id : 8513303643 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
I feu U Al &1 O

BYH - | : Wipia® T dik TG H URIET & 7T YifggH s=iue &1 IUGRT il Sl 8, Faid
TeiF yardl & fofe uleRgy Het 918 Gohise ol 39gh fear wd e |

@Y - 11 : Tl U9 Hloardl &1 G @1 Uishdl § Tleard! &l Hall b1 HUST 3 qTuaH S
HTa=GHAI Bl o

IWRIGd HYHI D TeH H aiiu® Jugad fadbed B 909 B ;

1. P - | Td HYT - 1| Gl Fol &

2 HYT- 1T HYT- 1 GHTTad © |

3. YT - | ol &, Wb ®Y - 1| TTad o
4, ®Y - | 7TAd ©, did- U - || T8l 5
Options :

85133014557. 1

85133014558. 2

85133014559. 3

85133014560. 4
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Question Number : 41 Question Id : 8513303644 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Match List | with List |l

List | List Il
(Product) (Total Scluble Solids)
A. RTS . 15 per cent
B. Cordial Il. 40-50 per cent
C. Nectar I1l. 10 per cent
D. Squash IV. 30 per cent

Choose the correct answer from the options given below:

1. A-1Il, B- IV, C-1I, D- |
2 A-11, B-1, C- 1V, D- i
3 A-11L B-1IV, C-1,D-1I
4, A-11, B-1ll, C- IV, D- |
Options :

85133014561. 1
85133014562. 2
85133014563. 3
85133014564. 4

Question Number : 41 Question Id : 8513303644 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Tl - | 1 Gl - 11 § IdlG U9 ool gaaiia gard @ G-a H e &1

i - | (3TE) el - 1| (@0 IoAid ar)
(A) R0, ORERIGEG!
(B) BT (11) 40 - 50 Wfa=d
(C) A (i 10 ufa=d
(D) TP (1v) 30 Hfd=
fofeiad Ao § 9 U8l SR @1 9 &4l
1. (A) - (1), (B) - (1V), (C) - (), (D) - (1)
2. (A) - (1), (B) - (1), (C) - (IV), (D) - (1)
3. (A) - (), (B) - (), (C) - (D), (D) - (1)

4. (A) - (1), (B) - (1), (C) - (1V), (D) - (1)
Options :

85133014561. 1
85133014562. 2
85133014563. 3
85133014564. 4

Question Number : 42 Question Id : 8513303645 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Read the following statements:

A. English gardens are informal in nature.

B. French gardens are informal in nature.

C. Persian gardens are the latest styled gardens.

D. The lawn is the heart of a garden.

E. Pinjore garden is a Mughal style garden.

Choose the correct answer from the options given below:

1.A, DandE
2.A,BandE
3A CandD
4 C,DandE
Options :
85133014565. 1
85133014566. 2
85133014567. 3
85133014568. 4
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Question Number : 42 Question Id : 8513303645 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
feu 10 sy &) ufgu -

(A) ST TS SRS UPld & 8id &
(B) TITLRIT TS SHIUdI® Udhid & Bid o
(C) IFET S i ey Id & me 8|
(D) BfaTeh, TS @1 Fea e 2|

(£) TosiR T8 1t el &1 e o

-1 feu 71u faeedl & § UE1 By & THE ald [9ohed &1 99 B3 ;

oW

Options :

85133014565. 1
85133014566. 2
85133014567. 3
85133014568. 4

Question Number : 43 Question Id : 8513303646 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Read the following statements:

A. Square method of orchard layout is the simplest method.

B. Maximum plants can be accommodated in the quincunx method of orchard layout.

C. More number of plants can be accommodated in the rectangle method as compared to the
hexagonal method.

D. Intercultural operations become tough in the square method of orchard layout.

E. Contour method is the most popular method of orchard layout.

Choose the correct answer from the options given below:

1. Aand B

2. Aand C
3.A, Band C
4 A BandD
Options :
85133014569. 1
85133014570. 2
85133014571. 3
85133014572. 4

Question Number : 43 Question Id : 8513303646 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
frgfaiad @Al of uieu ;

(A) STl & aie- B aieR &Y 9ad M g

(B) T & XEio Bl e [are & Faifde N T o 9dhd &

(C) YeHeHR [afe ©I 3UET AR fafd # 3ifEd U1e T o ad &
(D) T & Wi @i PR [ 7 Aeaw foars § &ieas sl &
() e 3 9T & vaidh &t gy disiid fafd g1

Fafaiad [9eedl § 4 981 Syl & G9g a1d [doed B 999 DY ;

1. ©d (A), (B)
2. &9d (A), (C)
(
(

3. (A), (B), (Q)
4. (A), (B), (D)
Options :

Page - 52


https://link.testbook.com/bQQ2EkH1bpb
https://link.testbook.com/bQQ2EkH1bpb

N P> Google Play

85133014569. 1
85133014570. 2
85133014571. 3
85133014572. 4

Question Number : 44 Question Id : 8513303647 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Match List | with List |l

List | List Il
A. Rhizome . Strawberry
B. Corm Il. Turmeric
C. Runners 1. Garlic
D. Clove V. Colocasia

Choose the correct answer from the options given below:

1T A-1, B- IV, C-1ll, D- |
2. A-11, B- I, C- 1V, D- |
3. A-1I, B- 1V, C-1,D- 1l
4, A- 1V, B-1Il, C- 1, D- |
Options :

85133014573. 1
85133014574.2
85133014575. 3
85133014576. 4

Question Number : 44 Question Id : 8513303647 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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el - | D gt - 1| Y e &1

Tl - | =t - 1l
(A) TESH (1) &
(B) P (I) gl
(C) T8 (1) TEGT
(D) FE (V) 3R
fafeiad f9ecl § 4 U8 SR &1 901 &

1. (A) - (1), (B) - (IV), (Q) - (1), (D) - (1)

2. (A) - (1), (B) - (1), (C) - (), (D) - (1)

3. (A)- (1), (B)Y - (V) , (©) - (1), (D) - (1)

4. (A) - (IV), (B) - (), (C) - (1), (D) - (1)

Options :

85133014573. 1
85133014574. 2
85133014575.3
85133014576. 4

Question Number : 45 Question Id : 8513303648 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Match List | with List I

List | List Il
A. Lemon l. Cutting
B. Acnla II. Inarching
C. Sapota lIl. Seed
D. Pomegranate IV. Budding

Choose the correct answer from the options given below:

1. A-1ll, B- IV, C- |, D- 1l
2 A-11, B-1I, C- IV, D- |
3.A-IV, B-1I, C-1I, D-1
4 A-1I, B-1IV, C-1I, D-1
Options :
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85133014577. 1
85133014578. 2
85133014579. 3
85133014580. 4

Question Number : 45 Question Id : 8513303648 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Ol - 1P Gl - 1 e o

Ol - | I - Il

(4) g () HH

(B) 3M1geH OESIEL
(C) 9P (111 o

(D) ¥R (V) BRI
1 feu 770 fao el & © 9ot S &1 994 3
1. (A) - (1), (B) - (1V), (C) - (1), (D) - (I)

2. (A) - (1), (B) - (1), () - V), (D) - (1)

3. (A) - (IV), (B) - (1), (C) - (), (D} - (I)

4. (A) - (1), (B) - (1V), (C) - (1), (D) - (1)
Options :

85133014577. 1
85133014578. 2
85133014579. 3
85133014580. 4

Question Number : 46 Question Id : 8513303649 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Match List | with List Il

List | List Il
A. Spongy tissue I. Chausa
B. Yellow rinded II. Alphonso
C. Malformation resistant 1. Ambika
D. Sweetest variety V. Bhadran

Choose the correct answer from the options given below:

T A-1, B- I, C- IV, D- |
Z.A-11,B- 1V, C- 1, D-
3 A-1,B- 1V, C-1, D- 1l
4 A-1V, B-1Il, C-1, D-1
Options :

85133014581. 1
85133014582.2
85133014583. 3
85133014584. 4

Question Number : 46 Question Id : 8513303649 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Tl - 1 D1 gl - 1| Y e & :

i - | = -

(A) Tl 39F () I

(B) Uidl fivads gt fed DEGEE
(C) ATAHRHTS UiaRidl (11 e
(D) G&d Oidl e (IV) HIEIH
frgfoRad fasedl § 9 Tl IR & 90 B :

1. (A) - (1), (B) - (1), (€) - (1V), (D) - (1)

2. (A) - (1), (B) - (IV), (C) - (1), (D) - (1)

3. (A) - (1), (B) - (IV), (C) - (1), (D) - (1)

4. (A) - (IV), (B) - (), (C) - (1), (D) - (1)

Options :
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85133014581. 1
85133014582. 2
85133014583.3
85133014584. 4

Question Number : 47 Question Id : 8513303650 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which one of the following is a dicecious vegetable?

1. Ridge gourd
2. Bittergourd

3. Pointed gourd
4. lvy gourd
Options :
85133014585. 1
85133014586. 2
85133014587. 3
85133014588. 4

Question Number : 47 Question Id : 8513303650 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Fafaiad # 4 © Y] THiei el & ?

1. 3%

2. Bl

3. §dd

4. PGE
Options :
85133014585. 1
85133014586. 2
85133014587. 3
85133014588. 4

Question Number : 48 Question Id : 8513303651 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Central Institute of Arid Horticulture is situated in which city?

1. Lucknow

2. Jodhpur

3. Bikaner

4. Ajmer
Options :
85133014589. 1
85133014590. 2
85133014591. 3
85133014592. 4

Question Number : 48 Question Id : 8513303651 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
i I GREH] SR el (Yd 8 ?

1. d1dh

2. SR

3. PR

4, 3SR
Options :
85133014589. 1
85133014590. 2
85133014591. 3
85133014592. 4

Question Number : 49 Question Id : 8513303652 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Given below are two statements:

Statement |: Roses thrive well in a sunny climate as they require a minimum of six hours of
sunlight.

Statement II: Roses should be harvested at the tight bud stage and should be stored at 2-3°C
with a relative humidity of 90-95%.

In light of the above statements, choose the most appropriate answer from the options given
below:

1. Both Statement | and Statement |l are true.
2. Both Statement | and Statement |l are falze.
3. Statement | is true and Statement |l is false.
4. Statement | is false and Statement Il is true.
Options :

85133014593. 1

85133014594. 2

85133014595. 3

85133014596. 4

Question Number : 49 Question Id : 8513303652 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

TRT ey fRum? -
HY - | : TaTE Yol HIgH H w8l oRE G904 §, U8 IHaH 6 Tc YB TRl @I SHTgRgdhal il o

DY - 1| : TATE B gols POR Bicid] Haw[ T Hhi] diigt Ud HUSRY 2 - 3° U=<1Us U4 90 - 95
Ui=rd SMufdie Seal R &A1 diigU]

SWRIFd HYAEl & TaH H Galldd JUgad [ddbed &I 99 oY :

1. @Y - ITd HYT - 1A Tel &

2 HYT - I HYH - I G TTad & |

3. ®YT - | 1 &, Ot dYH - 11 TIad 8
4. Y - | TTod 8, i dY - 1 Gl &
Options :

85133014593, 1

85133014594, 2

85133014595, 3

85133014596 4
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Question Number : 50 Question Id : 8513303653 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Match List | with List |l

List | List 1
A. Potato . Browning
E. Onion Il. Wart
C. Radish lll. Bolting
D. Cauliflower IV. Pithiness

Choose the correct answer from the options given below:

T.A-1I, B- 1, C- 1V, D- |
2. A-11, B- I, C-1, D- IV
3. A-1,B-1ILC-1V,D-l
4. A-1, B-1I, C- IV, D- 1l
Options :

85133014597. 1
85133014598. 2
85133014599. 3
85133014600. 4

Question Number : 50 Question Id : 8513303653 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Tl - | Tl - 1l
(A) AT, (1) ST
(B) T (1) @

(C) el (1 AT
(D) BerTeft (1v) foef=g
fofefag § T eI SR BT ITI I

1. (A) (1), (B) - (1), (©) - (V) , (D) - (1)

2. (A) - (1), (B) - (1), (C) - (1), (D) - {IV)

3. (A) - (1), (B) - (W), (C) - (IV), (D) - (1)

4. (A) - (1), (B) - (1), (C) - (IV), (D) - (1)

Options :

85133014597. 1
85133014598. 2
85133014599. 3
85133014600. 4

Section Id :

Section Number :
Section type :
Mandatory or Optional :
Number of Questions :

Part I1I Biology 4

Number of Questions to be attempted :

Section Marks :

Display Number Panel :

Group All Questions :

Mark As Answered Required? :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

85133046
2

Online
Mandatory
50

50

200

Yes

Yes

Yes

1
85133050
Yes

Question Number : 51 Question Id : 8513303654 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1
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In acquired immunity

A. Antibodies produced for allergens are of IgA type

B. B-cells themselves do not secrete antibodies but help T-cells to produce them
C. T-cells are responsible for the graft rejection

D. Each antibody molecule has four peptide chains

Choose the correct answer from the options given below

1. B and C only
2. C and D only
3. A and B only
4. B and D only
Options :
85133014601. 1
85133014602. 2
85133014603. 3
85133014604. 4

Question Number : 51 Question Id : 8513303654 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

HIERA I WieRISa | FE e -

3. TeReH & gief 3e0d USaral iga UHR @i aid! o

4. B - DIRIDI WY UTare! 3G el Pl icd T - DIRAD] B Celars] I H- H gD
gl g

. T - BIRIGT TR ABRA H JwRar gidl o

& Wdd Tdiarel 30 IR UUCiEs o gad gidl o

el famedid SR -

1. haasau g
2. HAAUTUT G
3. A HaUT g
4, HIAG aUl g
Options :
85133014601. 1
85133014602. 2
85133014603. 3
85133014604, 4

Page - 62


https://link.testbook.com/bQQ2EkH1bpb
https://link.testbook.com/bQQ2EkH1bpb

N P> Google Play

Question Number : 52 Question Id : 8513303655 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Cr-Jacob Disease is caused by

1. Prions

2. Viroids

3. Virus

4. Mycoplasma
Options :
85133014605. 1
85133014606. 2
85133014607. 3
85133014608. 4

Question Number : 52 Question Id : 8513303655 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
P - vl AHD PRD T';T

1. O
2. ARGS
3. faug

4, TSPl
Options :

85133014605. 1
85133014606. 2
85133014607. 3
85133014608. 4

Question Number : 53 Question Id : 8513303656 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The most accepted line of descent in human evolution is

1. Australopithecines — Ramapithecus — Homo sapiens — Homo habilis

2. Homo erectus — Homo habilis — Homo sapiens

3. Ramapithecus — Homo habilis — Homo erectus — Homo sapiens

4. Australopithecines — Ramapithecus — Homo erectus — Homo habilis — Homo sapiens
Options :

Page - 63


https://link.testbook.com/bQQ2EkH1bpb
https://link.testbook.com/bQQ2EkH1bpb

N P> Google Play

85133014609. 1
85133014610. 2
85133014611. 3
85133014612. 4

Question Number : 53 Question Id : 8513303656 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

A4 e & douf & gaffye Mfdae aaar s -

1. S foraradies — IEadiey — gi| 9fua—g — giHi sfacy

2. §iAI Siaey — g9l sfadig — g/ 4fug—g

3. IH IS Y — §H1 sfaciy — g 33aed — gH 3Ty

4, frefeadiey — Iy — gl 3idey — gl efefoy — i Ifg—g
Options :

85133014609. 1

85133014610. 2

85133014611. 3

85133014612. 4

Question Number : 54 Question Id : 8513303657 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Polycistronic genes are generally found in

1. Bacteria

2. Amoeba

3. Slime molds
4. Insects
Options :
85133014613. 1
85133014614. 2
85133014615. 3
85133014616. 4

Question Number : 54 Question Id : 8513303657 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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1. Siaro) H

2. ar g

3. TR Oy
4, DI Y
Options :
85133014613. 1
85133014614. 2
85133014615. 3
85133014616. 4

Question Number : 55 Question Id : 8513303658 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Given below are two statements:
Statements I: Activation of Na™ channels is responsible for the absolute refractory period.

Statements II: Relative refractory period is the interval during which second action potential
can be elicited, provided the stimulus is strong enough.

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both Statement | and Statement Il are correct

2. Both Statement | and Statement Il are incorrect

3. Statement | is correct but Statement |l is incorrect
4, Statement | is incorrect but Statement [l is correct
Options :

85133014617. 1

85133014618. 2

85133014619. 3

85133014620. 4

Question Number : 55 Question Id : 8513303658 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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UUId 34 [l ST g@dl 6

SWRIad BYHl & YR R el fadedig I g -

1LEFI BY I T Y 1 Jd © |
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Options :

85133014617. 1

85133014618. 2

85133014619. 3

85133014620. 4

Question Number : 56 Question Id : 8513303659 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Plant growth regulator that is synthesized in regions where rapid cell division occurs

1. Abscissic Acid
2. Ethylene

3. Cytokinin

4. Gibberellic Acid
Options :
85133014621. 1
85133014622. 2
85133014623. 3
85133014624. 4

Question Number : 56 Question Id : 8513303659 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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2. 2YEAH
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Options :
85133014621. 1
85133014622. 2
85133014623. 3
85133014624. 4

Question Number : 57 Question Id : 8513303660 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The term "Ecosystem” was proposed by

1. E.P. Odum
2. A. G. Tansley
3. E. Haeckel
4, R. Mishra
Options :
85133014625. 1
85133014626. 2
85133014627. 3
85133014628. 4

Question Number : 57 Question Id : 8513303660 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
SHIE e frg- fadr 1 -

1.3. . 3189
2. T Sfl. T
3.3. 090

4. L. e
Options :
85133014625. 1
85133014626. 2
85133014627. 3
85133014628. 4
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Question Number : 58 Question Id : 8513303661 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

In contrast to Aves, Mammals have

. synsacrum
. corpus callosum
mammary gland without teats

O MN m P>

ear pinna
E. pneumatic bones

Choose the correct answer from the options given below

1. B and D only

2. A, B and D only
3.C, D and E only
4. A and E only
Options :
85133014629. 1
85133014630. 2
85133014631. 3
85133014632. 4

Question Number : 58 Question Id : 8513303661 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :
85133014629. 1
85133014630. 2
85133014631. 3
85133014632. 4

Question Number : 59 Question Id : 8513303662 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Match List | with List 1l

List | List 1
A. Stroma l. Vacuole membrane
B. Plasmodesmata II. Infoldings in mitochondria
C. Tonoplast l1l. Fluid inside Chloroplast
D. Cristae V. Cytoplasmic connections

Choose the correct answer from the options given below:

A-(lI1), B-(1), C-(IV), D-(I)

A-(1), B-(11), C-(1i1y, D-(1IV)
A-(Il1), B-(IV), C-(1), D-(I)

4. A—(II]}, -(I), C-(1), D-{IV)

Options :

85133014633. 1

85133014634. 2
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85133014635. 3
85133014636. 4

Question Number : 59 Question Id : 8513303662 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Tl - | BT Gl - 11 A1y e B -

Ol - | T - |l

3. | g P

d. WISHISYATET ||I. ARclai<al & 3d: 3ad
. THWRE |l . BRacia® 1 SH=IR® 50
g, Tt V. DITIDT 5ol Fratid

Hel famedig IR I -

TA-1,9-1L,8-1V, -1
2H-1,d-1L°H-1l, -V
3H-, -V H-1, -1l
4. 3-1,d-1L"H-1,g-1V
Options :

85133014633. 1
85133014634.2
85133014635. 3
85133014636. 4

Question Number : 60 Question Id : 8513303663 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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A microbiologist identified salinity resistance gene in an actinomycete. Which of the following
plasmids can be used to generate salt-resistant crop using the bacterial gene?

A. Cry - Plasmid

B. BT - Plasmid

C. Ti - Plasmid

D. BAC - Plasmid

E. pET - Plasmid

Choose the correct answer from the options given below

1. B, C and D only
2. B only

3. C only

4. A Cand Eonly
Options :
85133014637. 1
85133014638. 2
85133014639. 3
85133014640. 4

Question Number : 60 Question Id : 8513303663 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
% Y& a91-1® gRI Uae HHIGEIEE § GauRi ofid @f @i @1 | F9 3 9 @ 9 @ies
TAURIH WSl & IdIeA H Sia] $iF B WaHT fadl off Yhdl

. P15 - WIS

9. BT - WIRES

9. Ti - @IS

T. BAC - WIRH3

T, pET - WIHS

el fdeedig SR I -

1. %aad, gauic
2. paa o
3. Haad
4 HaaH gaug
Options :
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85133014637. 1
85133014638. 2
85133014639. 3
85133014640. 4

Question Number : 61 Question Id : 8513303664 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:
Statements I: Neutral variation occurs due to point mutations in non-coding regions.
Statements II: Neutral variation does not confer a selective advantage or disadvantage.

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both Statement | and Statement |l are correct

2. Both Statement | and Statement |l are incorrect

3. Statement | is correct but Statement Il is incorrect
4, Statement | is incorrect but Statement |l is correct
Options :

85133014641. 1

85133014642.2

85133014643. 3

85133014644. 4

Question Number : 61 Question Id : 8513303664 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :

85133014641. 1

85133014642. 2

85133014643. 3

85133014644. 4

Question Number : 62 Question Id : 8513303665 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

If E. coli is grown in the absence of lactose, it will stop the synthesis of

1. Ribonuclease

2. B-lactamase

3. B-galactosidase
4. Pyruvate kinase
Options :
85133014645. 1
85133014646. 2
85133014647. 3
85133014648. 4

Question Number : 62 Question Id : 8513303665 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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3. B - IR ey
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Options :
85133014645. 1
85133014646. 2
85133014647. 3
85133014648 4

Question Number : 63 Question Id : 8513303666 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Match List | with List Il

List | List 11
A. P-wave I. Ventricular repolarization- relaxation phase
B. P-Rinterval |ll. The onset of ventricular depolarization - leads to

ventricular contraction

C. QRS complex |lll. Time for the impulse to be conducted from SA
node to ventricles through the AV node

D. T- wave V. Atrial depolarization - leads to atrial contraction

Choose the correct answer from the options given below:

A-(lI), B-(1V), C-(I1), D-{I)

A-(IV), B-(IT), C-(l1), D~(I)

A-(IV), B-(lIT), C-(1), D-(1)
4. A-(1), B-(l1), C-(l11}, D-{IV)
Options :

85133014649. 1
85133014650. 2
85133014651. 3
85133014652. 4

Question Number : 63 Question Id : 8513303666 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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T.oH-1l,d-IV,H-1l, q-1
2H-Iv,d-1,°9-1,g-1
3H-V,9-L,9-1, -1l
4. A-1,9-1L,"9-1,g-IV
Options :

85133014649. 1
85133014650. 2
85133014651. 3
85133014652. 4

Question Number : 64 Question Id : 8513303667 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which of the following has "anucleate” cells

1. Sieve tube elements
2. Xylem Parenchyma
3. Companion cells

4. Phloem Parenchyma
Options :

85133014653. 1
85133014654. 2
85133014655. 3
85133014656. 4

Question Number : 64 Question Id : 8513303667 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :
85133014653, 1
85133014654. 2
85133014655. 3
85133014656 4

Question Number : 65 Question Id : 8513303668 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Choose the correct statements

A. Length of the food chain is generally limited to 3-4 trophic levels due to energy loss.

B. Length of food chain depends upon the producer

C. In hydrarch succession, lichen is the pioneer community

D. Removal of most of the carnivores in an ecosystem results in an increased population of
deer

E. Removal of 80% of top carnivores results in greatly increased growth of vegetation

Choose the correct answer from the options given below

1. A B and Conly
2. C, D and E only
3. A, D and E only
4. A Band D only
Options :
85133014657. 1
85133014658. 2
85133014659. 3
85133014660. 4

T

Question Number : 65 Question Id : 8513303668 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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3. Had 3, g aul g
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Options :
85133014657. 1
85133014658. 2
85133014659. 3
85133014660. 4

Question Number : 66 Question Id : 8513303669 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Terrestrial life evolved from aquatic life due to

1. Development of extra-embryonic membranes
2. Development of glandular skin

3. Mcdification of appendages into limbs

4. High body temperature

Options :

85133014661. 1

85133014662. 2

85133014663. 3

85133014664. 4

Question Number : 66 Question Id : 8513303669 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :

85133014661. 1
85133014662. 2
85133014663. 3
85133014664. 4

Question Number : 67 Question Id : 8513303670 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

What is the secretory phase in the human menstrual cycle also called? How long does it last?

1. Luteal phase, four

2. Follicular phase, four

3. Follicular phase, fourteen
4. Luteal phase, fourteen
Options :

85133014665. 1
85133014666. 2
85133014667. 3
85133014668. 4

Question Number : 67 Question Id : 8513303670 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
TS o Oifles o5 &) W1d] ARl B ----- 1 Bl §ral & aul g9 --——---—- feag sl gl

1. T[T ™I, 91

2. IR TR, IR
3. I eR e, 9ige
4. TG a1, dicg
Options :

85133014665. 1
85133014666. 2
85133014667. 3
85133014668. 4
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Question Number : 68 Question Id : 8513303671 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Arrange the steps of cell divisicn in the correct order

. Cytokinesis
. Metaphase
Anaphase
. Telophase

m o nN o>

. Prophase
Choose the correct answer from the options given below

1.EB.C AD
2A B CDE
3.EBCDA
4 A B, CED
Options :

85133014669. 1
85133014670. 2
85133014671. 3
85133014672. 4

Question Number : 68 Question Id : 8513303671 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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4 A -9d-H-4-7q
Options :

85133014669. 1
85133014670. 2
85133014671. 3
85133014672. 4

Question Number : 69 Question Id : 8513303672 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which hormone influences water absorption in the collecting tubules of the kidney?

1. Renin

2. Angiotensin
3. Aldosterone
4. Vasopressin
Options :

85133014673. 1
85133014674. 2
85133014675. 3
85133014676. 4

Question Number : 69 Question Id : 8513303672 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :
85133014673. 1
85133014674. 2
85133014675. 3
85133014676. 4

Question Number : 70 Question Id : 8513303673 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Match List | with List Il

List | List I
A. Karan rai . Bacterial blight
B. Pusa Komal Il Hill bunt
C. Himgiri Ill. Leaf curl
D. Pusa Sadabahar V. White rust

Choose the correct answer from the options given below:

1. A-(1), B-(I1), C-(IV), D-(1I)
2. A-(IV), B-(1), C-(I1), D-(ll1)
3. A-(1), B-(1I), C-(11), D-(1V)
4. A-(111), B-(1), C-(1v), D-(IN)
Options :

85133014677. 1
85133014678. 2
85133014679. 3
85133014680. 4

Question Number : 70 Question Id : 8513303673 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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T.H-,d-1I,"H-1V, g-1ll
2H- v, 8-, 9-1L, -1
3H-1,9-N,9-1, g-1V
4.dA-1,94-1, -V, q-1l
Options :

85133014677. 1
85133014678. 2
85133014679. 3
85133014680. 4

Question Number : 71 Question Id : 8513303674 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Species found only in a given region and nowhere else in the world are called

A. Regiodemic

B. Demegraphic

C. Pandemic

D. Endemic

E. Epidemic

Choose the correct answer from the options given below

1. B only

2. B and E only

3. D only

4. A Cand D only
Options :
85133014681. 1
85133014682.2
85133014683. 3
85133014684. 4
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Question Number : 71 Question Id : 8513303674 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
AE U e &3 J urdl o= arelt oifd ol 3y H 397 el el ©
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1.%da §
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Options :
85133014681. 1
85133014682. 2
85133014683. 3
85133014684. 4

Question Number : 72 Question Id : 8513303675 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
During the biosynthesis of haemoglobin in sickle cell anaemic patients, CAC coden is
transcribed to

1. GUG

2. GAG

3. CAC

4, CUC
Options :
85133014685. 1
85133014686. 2
85133014687. 3
85133014688. 4
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Question Number : 72 Question Id : 8513303675 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

T o T & I H RHRdIET © W §%Iu0 H CAC B8 9 H ®UrRa gidl & ;

1. GUG

2. GAG

3. CAC

4, CUC
Options :
85133014685. 1
85133014686. 2
85133014687. 3
85133014688. 4

Question Number : 73 Question Id : 8513303676 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Find out the correct statement(s)

A. Peristalsis is coordinated by the vagus nerve

B. When food enters into the stomach, the activity of salivary amylase stops due to pepsin

C. Deglutition centre is located in the floor of IV ventricle of the medulla oblongata

D. Absorption of cyanocobalamin takes place in the presence of intrinsic factor

E. Carboxypepitidase is a pancreatic endopeptidase that digests the peptides into amino acids
Choose the correct answer from the options given below

1. A, Cand D only
2. A, B and E only
3. A, B and D only
4.C, D and E only
Options :
85133014689. 1
85133014690. 2
85133014691. 3
85133014692. 4

Question Number : 73 Question Id : 8513303676 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :
85133014689. 1
85133014690, 2
85133014691. 3
85133014692. 4

Question Number : 74 Question Id : 8513303677 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Identify the sequence of steps followed in linear electron flow during light reaction of
photosynthesis

A. Photoexcitation of Pygg and transfer of an electron to NADP™ via ferredoxin

B. Photolysis of H2O

C. Chemiosmosis and generation of ATP

D. Photoexcitation of Pggp and release of an electron.

E. Electron transport to plastocyanin from plastoquinone via cytochrome complex
Choose the correct answer from the options given below

1.ED,C B, A
2B D CAE
3.D,B,EC A
4 A B, CDE
Options :

85133014693. 1
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85133014694. 2
85133014695. 3
85133014696. 4

Question Number : 74 Question Id : 8513303677 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
T TR Tl DI TR b1 H SaiaeH & <Wig goi JHR @l 997 B

H. P7gp BT UHTR 21U YT Hhaliddd GRT NADP* TR Saide RIHiaRT]
9. UHl &1 ey
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Sae T R

£y

TG -H-9d -3
2d-g—-H-3H -7
3a—-d-9-9 -9
4 A -9d-H-qg—-7
Options :

85133014693. 1
85133014694. 2
85133014695. 3
85133014696. 4

Question Number : 75 Question Id : 8513303678 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Maximum species abundance occurs at which latitude?

1. 41°

2.71°

3 23°

4. 52°

Options :
85133014697. 1
85133014698. 2
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85133014699. 3
85133014700. 4

Question Number : 75 Question Id : 8513303678 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Gaiiie Sy 9= a1 Tdieds &1 90 ®Y -

1. 41°

2. 71°

3. 23°

4, 52°

Options :
85133014697. 1
85133014698. 2
85133014699. 3
85133014700. 4

Question Number : 76 Question Id : 8513303679 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which of these happen(s) in muscle contraction?

A. Increase in Ca™~ concentration level leads to the binding of calcium with a subunit of
troponin on actin filaments and thereby removes the masking of active sites for myosin.

B. During shortening of the muscle, A-bands get reduced, whereas, the |-bands retain the
length

C. A muscle fibre is a syncytium

D. Isotropic band of a myofibril consists of myosin

Choose the correct answer from the options given below

1. A and B only

2. A and C only

3. A, B and Conly
4. D only

Options :
85133014701. 1
85133014702. 2
85133014703. 3
85133014704. 4
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Question Number : 76 Question Id : 8513303679 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Uig Ypa HEM §

3. UaHH O] @1 SUHIH HEgHE B Ca T ®IF IR Ca** @1 &R g¢- 4§ Jied ®IF T AEIRGA
oq &aY RV gl 6|

9. U¥il & fade- | A 9= Bidl Siai (1) S U1 TS 9HH 3Edl ¢
. U=i g femfafeay 2

. HEIETE e o ASaeite 9= Hify god eidl ol

Tg! [goedig SR I -

1. haa A auT s

2. Haa A quT g

3. Had 3, §aUT g
4, H3AG

Options :
85133014701. 1
85133014702. 2
85133014703. 3
85133014704. 4

Question Number : 77 Question Id : 8513303680 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Match List | with List Il

List | List I
A. Phallomere I Intestine
B. Typhlosole Il. Genitalia
C. Dikaryon l1l. Algae
D. Chloroplast V. Fungi

Choose the correct answer from the options given below:

1. A-(I1), B-(I), C-(IV), D-(llI
2. A-(11), B-(), C-(ln), D-(IV
3. A-(1), B-{1l), C-(IV), D-(II
4. A-(IV), B-(11), C-(1), D-(lI
Options :

85133014705. 1
85133014706. 2
85133014707. 3
85133014708. 4

B-( )
B-( )
)
)

Question Number : 77 Question Id : 8513303680 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Tl - | DI il - 1| & i e &<

Tl - | =t -
3. TR . 3

9. fewara I, SR
4. S3ade 111, Zrare
. FARERE V. Had
Tg! [geedi SR I -

1T.AHA-1,d-1,H-1V,g-1l
2=, 9=, °-1l,q-IV
E.JT-I.H-JI,.H-IU,?I-III
4. 3- 1V, d-L"-1, -l
Options :

85133014705. 1

Page - 89


https://link.testbook.com/bQQ2EkH1bpb
https://link.testbook.com/bQQ2EkH1bpb

\

85133014706. 2
85133014707. 3
85133014708. 4

Question Number : 78 Question Id : 8513303681 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which property of the water molecule enables it to function as a moderator of temperature for
living organisms?

A. High specific heat
B. High heat of vaporization
Select the correct option from the following :

1. A only

2. B only

3. Both Aand B
4. Neither A nor B
Options :
85133014709. 1
85133014710. 2
85133014711. 3
85133014712. 4

Question Number : 78 Question Id : 8513303681 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Sl U DI DI I [G29al 34 getial a9 g & &4 § gyidl a41dl 82

A. 3= [3fp arg
B. 3=d AT qraHE
id feu 7 fgeedi © © 981 S gAY

1. Had A

2, Pad B

3. A TYUT B GHT

4 ATYTB G T8

Options :
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85133014709. 1
85133014710. 2
85133014711. 3
85133014712. 4

Question Number : 79 Question Id : 8513303682 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Regarding the identification of plants and animals, keys are prepared on the basis of similarity
and dissimilarity of characters. Which of the following are correct about keys?

A. Contrasting characters generally occur in a pair called a couplet

B. A choice made between two similar options resulting in accepting of only one and rejecting
the other

C. Each statement in the key is known as a lead

D. Keys are generally analytic in nature

E. Key is the collection of plants

Choose the correct answer from the options given below

1. A and B only

2. B and E only

3. B and D only

4. A Cand D only
Options :
85133014713. 1
85133014714.2
85133014715.3
85133014716. 4

Question Number : 79 Question Id : 8513303682 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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. Dol G 3T Upfa el 8

q. Poll UGyl BT 99e ©

el fddedia 3R 94 :

1. Paa A quT g

2. Haa g aul g

3. Bad g dUT

4, FHaa 3, §au g
Options :
85133014713. 1
85133014714. 2
85133014715. 3
85133014716. 4

Question Number : 80 Question Id : 8513303683 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Given below are two statements:

Statements I: Sewage discharge in a flowing river causes a decrease in biochemical oxygen
demand (BOD) due to biodegradation of organic matter by microbes. This leads to the
mortality of fish and other aquatic creatures.

Statements Il: Sewage discharge in a flowing river causes a sharp increase in dissolved oxygen
(DO) downstream from point of discharge due to increased consumption of DO by microbes.
This leads to the mortality of fish and other aquatic creatures.

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both Statement | and Statement |l are correct

2. Both Statement | and Statement |l are incorrect

3. Statement | is correct but Statement Il is incorrect
4, Statement | is incorrect but Statement Il is correct
Options :

85133014717. 1

85133014718. 2

85133014719.3

85133014720. 4

Question Number : 80 Question Id : 8513303683 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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@A - ]
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GEASIal g1 Yferd ladior &l SMfi® U S9®T BRU idl & | 390 UNUHEEY Had adl
=T ST offdf &1 5gex § 9fg il &

JRITd HYAl & YR R Gal fadwedig IR 9

1. P - | T HYF - 1 9 &

2. GHI BYT - | AYTHYT - 1| 3 Ed g |
3. YT - | g g AU PYA - || A &
4 HYT- |1 T e aUTFY - || G &
Options :

85133014717. 1

85133014718. 2

85133014719. 3

85133014720. 4

Question Number : 81 Question Id : 8513303684 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Match List | with List Il

List |

List I

A. Homologous

l. Convergent evolution

B. Paralegous

Il. Speciation

C. Analogous

1. Gene duplication

D. COrthologous

V. Divergent evolution

r

GETITON

Google Play

Choose the correct answer from the options given below:

A-(1), B-(I), C-(llI), D-(IV)
A-(IV), B-(1I1), C-(1), D-{II)
A-(II1), B-(1), C-(1V), D-{II)

4. A-(lI1), B-(1), C-(11), D-(IV)

Options :

85133014721. 1
85133014722.2
85133014723.3
85133014724. 4

Question Number : 81 Question Id : 8513303684 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Y - | BT G -1 Y e S -

el - gt -1

ITOAE I SN e
. ey |1, o SEad
g.gqafd |11 S gwiie s
G HIUTARTg (v, OO G
gl [docdig R I -

T.A-1,d-1L"H-1,q-IV
2 H-IV,d-ML,9-1, -1l
3H-,d-1,H-1IV, q-
4. 35-1l,d-1,9-1l, -1V
Options :

85133014721. 1
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85133014722.2
85133014723.3
85133014724. 4

Question Number : 82 Question Id : 8513303685 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Which of the following is true for the F - factor, a double-stranded closed circular plasmid
DNA?

1. It can only exit autonomously

2. it can either exist autonomously or can integrate into the host chromosome
3. It is confined to the cytoplasm of bacterial cells

4. It can integrate into the host chromosomes

Options :

85133014725. 1

85133014726. 2

85133014727.3

85133014728. 4

Question Number : 82 Question Id : 8513303685 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
U - thae A Gl - £ os a5 anid Tiivs e, T -

1. 91 30 TG Siifdd 1§ 9ddl 5|

2. WG SHUal SRl SEEEg H 3: 91d 8 9idl o
3, 3l TIR@T & BIRE gl 0 Fftd ware|

4, UMY HHEHY § Thied a- § 98 &

Options :

85133014725. 1

85133014726. 2

85133014727. 3

85133014728, 4

Question Number : 83 Question Id : 8513303686 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Which one of the following is a sesamoid bone?

1. Humerus

2. Pterygoid processes
3. Quadrate

4. Patella

Options :

85133014729. 1
85133014730. 2
85133014731.3
85133014732. 4

Question Number : 83 Question Id : 8513303686 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
9 5 U s oy o 994 Y
2. TS WEE

3. Blae

4 gcdl

Options :

85133014729. 1

85133014730. 2

85133014731. 3

85133014732. 4

Question Number : 84 Question Id : 8513303687 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Select all routes possible for the transport of water and minerals from root hair to the xylem

A. Transmembrane route

B. Symplastic route

C. Apoplastic route

D. Stomatal route

E. Endodermis route

Choose the correct answer from the options given below

1. A B, Cand E only
2. B, C, D and E only
3. A, B Cand D only
4 A B DandEonly
Options :
85133014733. 1
85133014734.2
85133014735. 3
85133014736. 4

Question Number : 84 Question Id : 8513303687 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

OeRIE U &1 ad ofd a4l Tqull & Udle ®I 47 HH 98- D :
¥, ighTs gif

9. fgawmafes 3

. TURed HF

G, 3¢ A

. 3ayH An

e fadpedig 3| 9 -

1. Haq H, §, gaul g
2. ®Hadd 9, gaulg
3. Paa 3, 9, 9TU G
4. Haq 3, 9, cadrg
Options :
85133014733. 1
85133014734. 2
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85133014735.3
85133014736. 4

Question Number : 85 Question Id : 8513303688 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Arrange the following in an order, starting from first trophic level

Cyclops
. Spirogyra
Cat fish
. Pelican

mo N o>

. Small fish

Choose the correct answer from the options given below

1.A B CDE
2.B.A CDE
3.B.AECD
4B A ED,C
Options :

85133014737. 1
85133014738.2
85133014739. 3
85133014740. 4

Question Number : 85 Question Id : 8513303688 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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1 H—-d-H-0-94
2 —-H-H-5-0
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Options :

85133014737. 1
85133014738. 2
85133014739. 3
85133014740. 4

Question Number : 86 Question Id : 8513303689 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

In comparison to Annelids, Platyhelminthes exhibit

1. Pseudocoe
. Radial symmetry

. Bilateral symmetry

N W

. No body cavity
Options :
85133014741. 1
85133014742.2
85133014743.3
85133014744. 4

Question Number : 86 Question Id : 8513303689 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :
85133014741. 1
85133014742. 2
85133014743, 3
85133014744. 4

Question Number : 87 Question Id : 8513303690 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Prokaryotic flagella are made up of protein filaments composed of

1. Flagellin

2. Tubulin

3. Actin

4. Myosin
Options :
85133014745. 1
85133014746. 2
85133014747. 3
85133014748. 4

Question Number : 87 Question Id : 8513303690 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

UlaRAiesd HRTY AH® U AU a Hegad aidl & -

Options :

85133014745. 1
85133014746. 2
85133014747.3
85133014748. 4
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Question Number : 88 Question Id : 8513303691 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Select all correct matches of disease and its causative agent

A. Leprosy — Mycobacterium bovis

B. Chancroid — Haemophilus ducreyi

C. Anthrax — Bacillus subtilus

D. Food poisoning — Clostridium perfringens

E. Syphilis — Treponema pallidum

Choose the correct answer from the options given below

1. A, Cand D only
2. B, D and E only
3.C, D and E only
4. A B and D only
Options :
85133014749. 1
85133014750. 2
85133014751.3
85133014752. 4

Question Number : 88 Question Id : 8513303691 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :
85133014749 1
85133014750, 2
85133014751. 3
85133014752, 4

Question Number : 89 Question Id : 8513303692 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Restriction enzymes that produce cohesive ends can be used for

1. Blunt-end cloning

2. End- to- end cloning
3. Translation

4. Transcription
Options :

85133014753. 1
85133014754. 2
85133014755.3
85133014756. 4

Question Number : 89 Question Id : 8513303692 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :
85133014753. 1
85133014754.2
85133014755. 3
85133014756. 4

Question Number : 90 Question Id : 8513303693 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Post-transcriptional modifications in eukaryotes include

1. Polyadenylation, capping, coding
2. Capping, splicing, coding

3. Coding, splicing, polyadenylation
4. Capping, splicing, polyadenylation
Options :

85133014757. 1

85133014758. 2

85133014759. 3

85133014760. 4

Question Number : 90 Question Id : 8513303693 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

goiey § oigimusy | Aafafad sar s -

2. HIt, TersiHT, SifsT

3. BITST, TAST, TTits HadEH
4, ST, TSR, Uldva A
Options :

85133014757. 1

85133014758. 2

85133014759. 3

85133014760. 4
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Question Number : 91 Question Id : 8513303694 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Important differences between C; and Cy4 plants are

1. Kranz anatomy

2. Electron Transport System

3. Dimorphic chleroplasts

4. Cyclic photophosphorylation

5. Light reaction

Choose the correct answer from the options given below

1. A and B only
2. A and C only
3. Aand D only
4. A and E only
Options :
85133014761. 1
85133014762. 2
85133014763. 3
85133014764. 4

Question Number : 91 Question Id : 8513303694 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :
85133014761. 1
85133014762 2
85133014763. 3
85133014764 4

Question Number : 92 Question Id : 8513303695 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Match List | with List Il

List I List 1I
A. Lysosome . Cisternae
B. Peroxisome Il rRNA
C. Golgi apparatus 1. Hz03
D. Nucleolus V. Suicide bag

Choose the correct answer from the options given below

A-(IV), B-(IIT), C-(1), D-(l)

A-(IV), B-(1), C-(111}, D-(IN)

A-(lT), B-(I), C-(liN), D-{IV)
4, A-(1), B-(11), C-{11y, D-{1v)
Options :

85133014765. 1
85133014766. 2
85133014767. 3
85133014768. 4

Question Number : 92 Question Id : 8513303695 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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LH-IV,F-,9-1,5-1I
2.-1V,9-1,9-1LE-1
-1, -1, -1, G-IV

4 -1, d-1L"H-l,g-1V
Options :
85133014765. 1
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85133014766. 2
85133014767. 3
85133014768. 4

Question Number : 93 Question Id : 8513303696 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Given below is a list of microbes and their use as biofertilizer or biopesticide -

A. Mycobacterium leprae- phosphorus fixation

B. Nostoc- nitrogen fixation

C. Tuberculina maxima-white pine blister rust

D. Azotobactor- compost enhancement

E. Sphaerotheca fuliginea- cucumber powdery mildew
Choose the correct answer from the options given below

1. A B and C only
2. B, C and D only
3.C, D and E only
4. A DandEonly
Options :
85133014769. 1
85133014770. 2
85133014771. 3
85133014772. 4

Question Number : 93 Question Id : 8513303696 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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1. Haad A, U g
2. Haq 9, 9aul g
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4. Haa 3, gaul g
Options :
85133014769. 1
85133014770. 2
85133014771. 3
85133014772. 4

Question Number : 94 Question Id : 8513303697 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

In which of the following organisms do blastopores develop into the anus?

A. Balanoglossus

B. Apis

C. Limulus

D. Pristis

E. Chaetoderma

Choose the correct answer from the options given below

1. B and C only
2.C, D and E only
3. Aand D only
4. A and E only
Options :
85133014773. 1
85133014774. 2
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85133014775. 3
85133014776. 4

Question Number : 94 Question Id : 8513303697 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

9 5 9 oR&Y & el H e gidl & -

3, 5".5'-'.".-' -(gﬁ .

o, fﬁﬁgﬁﬁ
.. ey
. PICGIESE]

i

To! fdmeda SR g -

1. hagaauryg
2. Haa Y, G aul g
2. HAA A UG
4. Haq Ay d
Options :
85133014773. 1
85133014774. 2
85133014775. 3
85133014776 4

Question Number : 95 Question Id : 8513303698 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Given below are two statements:
Statement I: The end products of Electron Transport System (ETS) are ATP and H;O.
Statement II: ETS begins with a reduction of NADH+H™ and ends with the oxidation of O;.

In light of the above statements, choose the most appropriate answer from the options given

below

1. Both Statement | and Statement |l are correct

2. Both Statement | and Statement |l are incorrect

3. Statement | is correct but Statement Il is incorrect
4, Statement | is incorrect but Statement Il is correct

Options :

85133014777. 1
85133014778. 2
85133014779. 3
85133014780. 4

Question Number : 95 Question Id : 8513303698 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Taa HE RTME |

BYA - |

SAdCH S-UIC (REH (ETS) &1 a8 A1 ATP 94T H,0 B
&Y - 1|

SdeH Sl f9%eH (ETS) &1 WP NADH+H™ H 3{ged aul &fd: Ao & iRiies 4
g gl
JRIad BYAl & YR T Tel fadwedig IW g -

1.GFI BYF - | JUTHY - 1| T § |

2. GHI YT - | FUTHYT - 1| A B |

3. ®YF - | T & Al YA - 1| ST &
4. YT - | 3T & Al YA - | G & |
Options :

85133014777. 1

85133014778. 2

Page - 111


https://link.testbook.com/bQQ2EkH1bpb
https://link.testbook.com/bQQ2EkH1bpb

\

85133014779. 3
85133014780. 4

Question Number : 96 Question Id : 8513303699 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Arrange the following steps of Glycolysis, starting from first to last

A. Glyceraldehyde-3-phosphate — 1,3-bis phosphoglyceric acid
B. Fructose-6-phosphate — Fructose-1,6-bisphosphate

C. Glucose — Glucose-6-phosphate

D. 3-Phosphoglyceric Acid — 2-Phosphoglycerate

E. Phosphoenol pyruvate — Pyruvic Acid

Choose the correct answer from the options given below

1.C,EAD,B
2C,DLAEB
3C, BADE
4. C, A B D, E
Options :

85133014781. 1
85133014782.2
85133014783. 3
85133014784. 4

Question Number : 96 Question Id : 8513303699 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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1. HH-4d-3H-g—-4d
ZHd—-g—-3H-40-4d
3H—-4d-3H-5-7J
4d-H-d-g-7
Options :

85133014781. 1
85133014782.2
85133014783.3
85133014784. 4

Question Number : 97 Question Id : 8513303700 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
A drop of each of the following is placed separately on four slides. Which one of them will
NOT coagulate?

1. Whole blood from pulmonary vein

2. Blood plasma

3. Blood serum

4. Sample from the thoracic duct of the lymphatic system
Options :

85133014785. 1

85133014786. 2

85133014787. 3

85133014788. 4

Question Number : 97 Question Id : 8513303700 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :

85133014785. 1

85133014786. 2

85133014787. 3

85133014788. 4

Question Number : 98 Question Id : 8513303701 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Genetic diversity

A. helps in the formation of polymerph

B. helps in speciation

C. is diversity of habitat

D. is diversity due to replacement of species within the habitat
E. is useful in adaptation to changes in environment

Choose the correct answer from the options given below

1. A B and E only
2. B, C and D only
3. C, D and E only
4. A Band D only
Options :
85133014789. 1
85133014790. 2
85133014791. 3
85133014792. 4

Question Number : 98 Question Id : 8513303701 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :
85133014789. 1
85133014790, 2
85133014791. 3
85133014792, 4

Question Number : 99 Question Id : 8513303702 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
In which of the following family types, does the ovary have lobes and the style emerges from

the depressions of the ovary lobes?
1. Brassicaceae

2. Apocynaceae

3. Asteraceae

4. Lamiaceae

Options :

85133014793. 1

85133014794. 2

85133014795. 3

85133014796. 4

Question Number : 99 Question Id : 8513303702 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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1. SRl
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Options :
85133014793. 1
85133014794. 2
85133014795.3
85133014796. 4

Question Number : 100 Question Id : 8513303703 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Match List | with List Il

List | List 1I
A. Acrosome l. Gohadotropin
B. Corpus luteum Il. Hyaluronidase
C. Leydig cells lll. Estrogen
D. Hypothalamus V. Testosterone

Choose the correct answer from the options given below:

1. A-(11), B-(lI1), C-(1), D-(IV)
2. A-(I, B-(lIn, C-(1v), D-(1)
3. A-(lny, B-(In), C-(1v), D-(1)
4. A-(lny, B-(In), C-(1), D-(1V)
Options :

85133014797. 1
85133014798. 2
85133014799. 3
85133014800. 4

Question Number : 100 Question Id : 8513303703 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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TAH-1,d-1L,8-1, -1V
22H-1,9-1L,89-1V,g-1
3.9-1l,F-1L"-1V,g-1
4.34-1l,d-1L9-1,q-IV
Options :

85133014797. 1
85133014798. 2
85133014799. 3
85133014800. 4

Part III Chemistry 4
Section Id : 85133047
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 50
Number of Questions to be attempted : 50
Section Marks : 200
Display Number Panel : Yes
Group All Questions : Yes
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 85133051
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 8513303704 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Salvarsan was discovered by Paul Ehrlich for the treatment of

1. Fever

2. Depression
3. Allergy

4. Syphilis
Options :
85133014801. 1
85133014802. 2
85133014803. 3
85133014804. 4

Question Number : 101 Question Id : 8513303704 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Uid Ugferd & Yoy &l 9 fode STaR G fau &1 ff, a5 &

1. g9 (wdy)
2. HdHlg

3. Tageit
Options :
85133014801. 1
85133014802. 2
85133014803. 3
85133014804. 4

Question Number : 102 Question Id : 8513303705 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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The structure of Saccharin is

-l
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S
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Options :

85133014805. 1
85133014806. 2
85133014807. 3
85133014808. 4

Question Number : 102 Question Id : 8513303705 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :

85133014805. 1
85133014806. 2
85133014807. 3
85133014808. 4

Question Number : 103 Question Id : 8513303706 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The correct structure of the repeat unit of neoprene is

("]
o
[
F
|
o
|
-0
I
o
e

Options :

85133014809. 1
85133014810. 2
85133014811. 3
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85133014812. 4

Question Number : 103 Question Id : 8513303706 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Cl
§ct

Options :

85133014809. 1
85133014810. 2
85133014811. 3
85133014812. 4

Question Number : 104 Question Id : 8513303707 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Terylene is prepared by the condensation of Ethylene glycol with

. -

. benzene-1,2-dicarboxylic acid

2. benzene-1,3-dicarboxylic acid
3 E}enzene-’l.4-clucarbc-:-c;,-'!i: acid
4, benzoic acid

Options :

85133014813. 1
85133014814. 2
85133014815.3
85133014816. 4

Question Number : 104 Question Id : 8513303707 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :

85133014813, 1

85133014814. 2

85133014815. 3

85133014816. 4

Question Number : 105 Question Id : 8513303708 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

One letter code for Tyrosine, an amino-acid is

1. F

2. T

3.¥

4 P

Options :
85133014817. 1
85133014818.2
85133014819. 3
85133014820. 4

Question Number : 105 Question Id : 8513303708 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
FERIMA TR TS & [OU Uh ER P DS & -

1. F

2T

3y

4 P

Options :
85133014817. 1
85133014818. 2
85133014819. 3
85133014820. 4
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Question Number : 106 Question Id : 8513303709 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

‘The product {(major) formed in the given organic reaction:

ethanolic KOH

0
COOK

¥

COOK

CONH;
1%
CEEDN Ha2
' CONH>
Options :
85133014821. 1
85133014822. 2

85133014823.3
85133014824. 4

Question Number : 106 Question Id : 8513303709 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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N ethanaolic KOH

COOK

[

COOK

CONH;
Cr

CONH3
L

CONHs
Options :
85133014821. 1
85133014822. 2

85133014823.3
85133014824. 4

Question Number : 107 Question Id : 8513303710 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Identify the most basic compound in the given options.

1. N-Methyl aniline

2. Phenylmethanamine
3. Ethanamine

4. N,N-Dimethy! aniline
Options :
85133014825. 1
85133014826. 2
85133014827. 3
85133014828. 4

Question Number : 107 Question Id : 8513303710 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

fed 70 famedl § 9aifde &g 3ifie &1 ygaH Sifad |

1. N - Bidd gRdH

2. i He=rH

3. A

4, N,N - S3EYq iR
Options :

85133014825. 1
85133014826. 2
85133014827.3
85133014828. 4

Question Number : 108 Question Id : 8513303711 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which one of the following does NOT give positive Fehling’s test?

1. Ethanal

2. Butanal

3. Benzaldehyde

4. Cyclopentanecarbaldehyde
Options :

85133014829. 1

85133014830. 2

85133014831. 3

85133014832. 4

Question Number : 108 Question Id : 8513303711 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
9 o U ®1F 9TE® belah W& 98l adl 6 ?

1. 7T

2. Fead

R ClGRER]

4. FHgAUcAPEUEeES
Options :

85133014829. 1
85133014830. 2
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85133014831. 3
85133014832. 4

Question Number : 109 Question Id : 8513303712 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The compound given below is called as a

1. Catechol

2. Resorcinol

3. Hydroquinone
4. Cresol
Options :
85133014833. 1
85133014834. 2
85133014835. 3
85133014836. 4

Question Number : 109 Question Id : 8513303712 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
At dim sl ded e -

Options :

85133014833. 1
85133014834. 2
85133014835.3
85133014836. 4

Question Number : 110 Question Id : 8513303713 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical
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Correct Marks : 4 Wrong Marks : 1

For the given organic reaction:

MazCrz0
Hz50

{ Hs

‘A" (Final majer product) is

SO3H
Options :
85133014837. 1
85133014838.2
85133014839. 3
85133014840. 4

Question Number : 110 Question Id : 8513303713 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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SO3H
Options :
85133014837. 1
85133014838. 2
85133014839. 3
85133014840. 4

Question Number : 111 Question Id : 8513303714 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which among the following methyl halides has the highest dipole moment?

1. CH3-F

2. CH3-Cl

3. CH3-Br

4, CHz-I
Options :
85133014841. 1
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85133014842.2
85133014843.3
85133014844. 4

Question Number : 111 Question Id : 8513303714 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
4 feu 7 Ay Sargs! 9 39 gaIgs & 994 Sifet forgal fg 4a myul S=dq 5

1. CH3-F

2. CH3-Cl

3. CH3-Br

4, CHz-I
Options :
85133014841. 1
85133014842. 2
85133014843.3
85133014844. 4

Question Number : 112 Question Id : 8513303715 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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The correct structure of DDT is

CI
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Cl
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Cl
Cl

Cl
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&
|
cl
Options :
85133014845. 1
85133014846. 2

85133014847.3
85133014848. 4

Question Number : 112 Question Id : 8513303715 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :
85133014845. 1
85133014846. 2

85133014847.3
85133014848. 4

Question Number : 113 Question Id : 8513303716 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Number of sigma (o) and pi () bonds present in the given molecule, respectively, are

NC CCh

HaM CH

C==cH

. 23 sigma and 5 pi
. 24 sigma and 5 pi
. 24 sigma and 9 pi

S N R LW

. 25 sigma and 9 pi
Options :
85133014849. 1
85133014850. 2
85133014851.3
85133014852. 4

Question Number : 113 Question Id : 8513303716 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
i e 70 30§ R (o) TUTUTS () SHTS=IT BT TeH] HH: § -

NC CCly

Hzh CH

C==cH
1. 230 and 5m
. 2d4o and 5w
. 240 and 9

. 250 and 9

N W I L

Options :

85133014849. 1
85133014850. 2
85133014851. 3
85133014852. 4

Question Number : 114 Question Id : 8513303717 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Page - 132


https://link.testbook.com/bQQ2EkH1bpb
https://link.testbook.com/bQQ2EkH1bpb

\

Correct Marks : 4 Wrong Marks : 1

The stationary and mobile phases used in paper chromatography are mainly

1. Solid and liquid respectively
2. Liquid and liquid respectively
3. Liquid and gas respectively
4. Solid and gas respectively
Options :

85133014853. 1

85133014854. 2

85133014855. 3

85133014856. 4

Question Number : 114 Question Id : 8513303717 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
DRTGIgUIcRa- H W el Ul Tiasiic Wi 43 &4 4 8, Bk :

1. o dyrgd
2. &d dyl gd
3. ga Uiy
4. 319 41 9
Options :
85133014853. 1
85133014854.2
85133014855.3
85133014856. 4

Question Number : 115 Question Id : 8513303718 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Among the following, the most reactive compound towards NalNH; is

1. 2-Butyne

2. 2-Butene

3. 1-Butyne

4. 1-Butene
Options :
85133014857. 1
85133014858. 2
85133014859. 3
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85133014860. 4

Question Number : 115 Question Id : 8513303718 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Fafafad 39 NaNH, & U 9aiis Hfufkaria af® & -

1. 2 - &g
2.2 -gdH
3.1 -=4c05d
4.1 -<H
Options :
85133014857. 1
85133014858.2
85133014859. 3
85133014860. 4

Question Number : 116 Question Id : 8513303719 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The number of hydrogen atoms bonded to 1°, 2° and 3° carbons respectively in the given
organic compound are

Kk

2.1
3.2
4,18,
Options :

85133014861. 1
85133014862. 2
85133014863. 3
85133014864. 4

el
o oo

o

|

:l:» o On

[ T L T s R o |

Question Number : 116 Question Id : 8513303719 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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T3 fou 78 Srelie Gffie § 10, 209U 3° Ble § AEEId S5 el WHSH &1 JE &

ik

2.
3. 20,
4,18,
Options :

85133014861. 1
85133014862. 2
85133014863. 3
85133014864. 4

5
1

el
ol
N

=
Sl L= LI

ol

[ Pt D O

Question Number : 117 Question Id : 8513303720 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
In the following reaction:

4HCl + MnO; — = 2H,0 + M=nCl, + Ch

How many gram of manganese dioxide react with 7.3 g of HCL
(Atomic weight of Mn is 55)

1

=

2

e A
HOA
- L OO
L

o hoown

5.
Options :

85133014865. 1
85133014866. 2
85133014867. 3
85133014868. 4

Y

Question Number : 117 Question Id : 8513303720 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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EEEIEIERIE

4HCl + MnO, — » 2H,0 + MaCl, + ChL

IS SEEEES @ fddd U, 7.3g HCLE 91 AHHaT ST
(Mn @1 URHTY] -Hefd & 55)

Options :

85133014865. 1
85133014866. 2
85133014867. 3
85133014868. 4

Question Number : 118 Question Id : 8513303721 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Match List | with List 11

List | List I
Frequency region Uses
.. Radiofrequency A. Radar
Il. Microwave B. Broadcast
lIl. Infra-red region C. Heating

Choose the correct answer from the options given below

1. 1-B; 1I-A; IH-C
2. 1-A; 11-B; 11-C
3. I-A; 1I-C; 1lI-B
4. 1-B; II-C; 1li-A
Options :

85133014869. 1
85133014870. 2
85133014871.3
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85133014872. 4

Question Number : 118 Question Id : 8513303721 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
@ | 1 ol T8 g &7 @ srad | | 38 T8 399 Suan § gafed eifed

BT | B Il

mﬁ:'_éﬁ -.I |

.35 emgf A TBR |
1. AZH AT B. TR i
11, SaTa & C. aH Ql
TEl TP & -

1. 1-B; 1I-A; lI-C

2. 1-A: 11-B: 111-C

3. 1-A; 11-C; 11I-B

4 1-B; 11-C; 1lI-A

Options :

85133014869. 1
85133014870. 2
85133014871. 3
85133014872. 4

Question Number : 119 Question Id : 8513303722 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Neon, Krypton and Xenon were discovered by

1. Henry Moseley

2. Glenn T. Seaborg
3. Dmitri Mendeleev
4, Ramsay

Options :
85133014873. 1
85133014874. 2
85133014875. 3
85133014876. 4

Question Number : 119 Question Id : 8513303722 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

1. BRI JI9c A B

2. 754 €1, Ttarsl - Bl
3. S Hedg 9 @l
4. A DI

Options :
85133014873. 1
85133014874.2
85133014875.3
85133014876. 4

Question Number : 120 Question Id : 8513303723 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Identify the INCORRECT statement/condition for hybridization.

1. The orbitals present in the valence shell of the atom are hybridized.

2. The orbitals undergoing hybridization should have almost equal energy.
3. Promotion of electron is essential condition prior to hybridization,

4. It is not necessary that only half-filled orbitals participate in hybridization.
Options :

85133014877. 1

85133014878. 2

85133014879. 3

85133014880. 4

Question Number : 120 Question Id : 8513303723 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
YHRUT B [A7T 7Teid DY / Tl DI YgdiA DIl -

1. UTHIY] & Ggioidhdl BN (@o-g 4d) H IURYd Sae ol 9eidd 8id o
2. B0 dRAAIE HEDI B Froll YT §3&R 5 dlied|

3. Y07 o Ud ScideHi &l UIFd §H1 TS o

4, Tg aRG® gl @i dad 3 GRd e ol GHvl § FiEied of |
Options :

85133014877. 1

85133014878. 2
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85133014879. 3
85133014880. 4

Question Number : 121 Question Id : 8513303724 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Number of hydrogen bonded and coordinated water molecules associated with CuS0O4.5H;0,
respectively are

1. 2and 3

2. 3and 2

3. 4and 1

4 1and4
Options :
85133014881. 1
85133014882. 2
85133014883. 3
85133014884. 4

Question Number : 121 Question Id : 8513303724 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
CuS04.5H,0 T Tl - STgsior SMaiEd aur Iaf-ad o Ul & $& HU: o -

1.2d4T 3

2.3 dyi2
3.4 dUl1

4.1 dul4
Options :
85133014881. 1
85133014882. 2
85133014883. 3
85133014884. 4

Question Number : 122 Question Id : 8513303725 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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MgCl; and LiCl are deliquescent and crystallized from aqueous solution, as their hydrates,
MgClz.XHz0 and LiClL.YH;O.

X and Y respectively are

1.2 and 8
2.8and2
3.2and 2

4 8and 8
Options :
85133014885. 1
85133014886. 2
85133014887. 3
85133014888. 4

Question Number : 122 Question Id : 8513303725 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
MgCl, 94T Licl TS aTel & aYT 30 2lzac M
Y fpwfod [P S 81 X JUT Y SHH: © -

gCla.XH>0 dYT LiCL.YH-0 & ¥4 H 9elig fdea

h

1. 2dUl 8
.8dyrz
.2d4l 2
.8dul 8
Options :
85133014885. 1
85133014886. 2
85133014887.3
85133014888. 4

[ O W

Question Number : 123 Question Id : 8513303726 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Page - 140


https://link.testbook.com/bQQ2EkH1bpb
https://link.testbook.com/bQQ2EkH1bpb

\

The alkali metals react with liquid ammonia and liberate hydrogen resulting in the formation
(mainly) of

1. Imide
2. Amide
3. Amine
4, Azide
Options :
85133014889. 1
85133014890. 2
85133014891. 3
85133014892. 4

Question Number : 123 Question Id : 8513303726 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
&R YT 5d ST ¥ HTHfH1 Sl & aY1 BTs oler Sciiold Bl o fardd IR ey §=
T Y eI 5

1. 3HIES

2. THEE

ER e

4, 9IS
Options :
85133014889. 1
85133014890. 2
85133014891. 3
85133014892. 4

Question Number : 124 Question Id : 8513303727 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The common name of compounds and their formula are given below as pairs. Identify the
INCORRECT pair.

1. Quick lime - Ca0

2. Slaked lime - Ca{OH);
3. Caustic Soda - NaOH

4, Soda Ash - Na>;CO3.Hz0
Options :
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85133014893. 1
85133014894. 2
85133014895. 3
85133014896. 4

Question Number : 124 Question Id : 8513303727 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Tt & QHE =19 99T 350 93 U O/ & ©U § 414 68 T8 &1 7Tad T &1 UgaH S -

1. ST = 91 - ca0

2. 991 T - Ca(OH);

3. BIfee® Il - NaOH

4, IS8T &1 - Na»CO3.H,0
Options :

85133014893 1
85133014894, 2
85133014895, 3
85133014896 4

Question Number : 125 Question Id : 8513303728 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Identify A and B in the following reaction

A A

1. A =HBO; B=B0
2.A=BH; B=Bx0;
3. A=8;0;5 B=HBG:
4. A =BHz; B =HBO:
Options :

85133014897. 1
85133014898. 2
85133014899. 3
85133014900. 4

L

Question Number : 125 Question Id : 8513303728 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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g sifufrar § A U1 6 &1 ug=Iy -
A A .
> 370K

H,BO;

1.4 =HBOs; B =B;0;
2 A=BH; B=B03
3.A=B;0;5 B=HBG;
4. A =BHz; B =HBO:
Options :

85133014897. 1
85133014898. 2
85133014899. 3
85133014900. 4

Question Number : 126 Question Id : 8513303729 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The crystal structure of white tin is

1. Tetragonal

2. Cubic

3. Hexagonal

4. Orthorhombic
Options :
85133014901. 1
85133014902. 2
85133014903. 3
85133014904. 4

Question Number : 126 Question Id : 8513303729 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
qhg o4 @l (e a1 3l & ?

1. GIHTHEE
2. 9

3. Yealuiig
4, TquwcHaTg
Options :
85133014901. 1
85133014902. 2
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85133014903. 3
85133014904. 4

Question Number : 127 Question Id : 8513303730 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Which one of the following chemical reactions does NOT occur in a blast furnace during the

extraction of iron?

1. SFE:DS + CO S EFESD_i =+ C.‘D;
2. 2Fe;O04 + CO _______ o 3Fe,0; + 3CO,

3. FeO + CO —  » Fe + CO,
4 FeO + C —  « Fe + CO
Options :

85133014905. 1
85133014906. 2
85133014907. 3
85133014908. 4

Question Number : 127 Question Id : 8513303730 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
HORA & Fepu) & fore aranyg] § 5l arel =il TaaHe AP Tad 8 ; 98 6 -

1. SFE:DS + CO . EFESD_l_ =+ c.‘D:
2 2Fe;0y + CO o 3Fe,0; + 3CO,

3. FeO + CO = > . Fe + CO,
4 FeO + C . . Fe + CO
Options :

85133014905. 1
85133014906. 2
85133014907. 3
85133014908. 4

Question Number : 128 Question Id : 8513303731 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Which one of the given hydrides of group 15 elements has the lowest boiling peoint?

1. NH3

2. PH:

3. AsH3

4. SbH3
Options :
85133014909. 1
85133014910. 2
85133014911. 3
85133014912. 4

Question Number : 128 Question Id : 8513303731 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
q9 15 ddl & elealsel 4 4 fbgdl dyHie Fuaa e 2

1. NH3

2. PH3

3. AsH3

4. SbH;
Options :
85133014909. 1
85133014910. 2
85133014911.3
85133014912. 4

Question Number : 129 Question Id : 8513303732 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Choose the correct option for Mn207, CrO3 and V;0s from the following

1. Mn>07, CrO3z and V>0s5 are acidic

2. CrO; is acidic while Mn>07 and V205 are basic
3. V205 is acidic while CrO3 and MnzO7 are basic
4, Mn>07, CrO3 and V205 are basic

Options :

85133014913. 1

85133014914.2

85133014915. 3

85133014916. 4
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Question Number : 129 Question Id : 8513303732 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
ﬁgﬁ Mn207, CrO; d4l Vo005 ﬁiﬁﬁqgﬁ amiﬂ gi'b‘h: -

1. Mn>O7, CrO; 74T V-0s 3 gl

2. CrO; &Y 8 918 @1 Mn>07 a4l V>0s &R 8
3. V>0s 3 & 9id & Cro; aul Mn,0- &G B
4. Mn>O7, CrO; YT V-0s &R B

Options :

85133014913, 1

85133014914, 2

85133014915. 3

85133014916 4

Question Number : 130 Question Id : 8513303733 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Given

A B C

X (2) X (g)

X:(® X (aq)

Where Ag;..H® — dissociation enthalpy; A.,,H® — sublimation enthalpy;
A, H® — lonisation enthalpy; .“}.EEH':" — electron gain enthalpy;
Bpyd H® — hydration enthalpy and Aj,.H® = lattice enthalpy

Select the correct option from the following

T A= AgsHO, B = AH®, C = ApyaH®
2. A=AuHE, B = A H®. C = ApyH®
3. A= AgHO, B = A.H®, C = AjH®
4. A= AgpHC. B = AH®, C = ApyeH®
Options :

85133014917. 1
85133014918. 2
85133014919. 3
85133014920. 4
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Question Number : 130 Question Id : 8513303733 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
fear mar g -

A

B C
Xa (g X@ —- X(@—» Xg

Where A4, H® — dissociation enthalpy; A,,,H® — sublimation enthalpy;
A;eH® — lonisation enthalpy; A, H® — electron gain enthalpy;
Apyd H® — hydration enthalpy and Aj,.H® = lattice enthalpy

e S e

FEfegd # 9 Wl fd@ed Y ;

1. A= Agi HE. B = A.H®, C = ApyaH®

2. A=AgwHB, B = A HE, C = ApyaH®
3. A=Ag:H®, B = AHP, C = AnH®
4. A= ApHO, B = AH®, C = ApyH®
Options :

85133014917. 1
85133014918. 2
85133014919. 3
85133014920. 4

Question Number : 131 Question Id : 8513303734 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The correct electronic configuration of Xe is

1. [Ar]4d'? 552 5p°
2. [Kr]3d1? 452 4p5
3. [Kr}4d19 552 5p°
4. [Ar)3d"7 4s® 4p°®
Options :
85133014921. 1
85133014922. 2
85133014923. 3
85133014924. 4
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Question Number : 131 Question Id : 8513303734 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Xe @1 Ual scideii-d 9014 & -

1. [Arj4d'? 55% 5p°
2. [Kr]3d19 452 4p©
]

3. [Kr]4d'? 55% 5p°
4. [Ar)3d10 452 4p5
Options :

85133014921. 1
85133014922. 2
85133014923.3
85133014924. 4

Question Number : 132 Question Id : 8513303735 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

When V205 reacts with alkalies and acids, .......X...... and ...... " are formed respectively.
Xandy are

1. X =VOs, Y=V0*
2.X=V0s, Y=VO0s*
3. X =V0s*, Y=VO&
4. X=V0¥, Y=\h03
Options :

85133014925,
85133014926.
85133014927.

85133014928.

B W DN =

Question Number : 132 Question Id : 8513303735 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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1. X =V0s, Y=V0*
2.X=V0s3, Y=VO5*
3. X=V0s", Y =VOs
4. X =V0?%, Y=V503
Options :

85133014925.
85133014926.
85133014927.
85133014928.

AW N~

Question Number : 133 Question Id : 8513303736 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which one of following pairs in actinide series can have the highest oxidation state?

1. Np, Pu

2. U, Am

3 U, Em

4 Am, Cm
Options :
85133014929. 1
85133014930. 2
85133014931. 3
85133014932. 4

Question Number : 133 Question Id : 8513303736 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

UfdeArzs 9ol 4 & FE H O {69 Ue g/ & oHi dwdl & HAIFRIH0 HTRT =y gl bl o -

1. Np, Pu
2. U, Am

3 U, Em

4 Am, Cm
Options :
85133014929. 1
85133014930. 2
85133014931.3
85133014932. 4
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Question Number : 134 Question Id : 8513303737 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The correct IUPAC nomenclature of [NiCl2{PPh3):] is

1. Bischleridobis{triphenylphosphine)nickel(ll)
2. Dichloridabis(triphenylphosphine)nickel(l)
3. Dichloridodi(triphenylphosphine)nickel(l1)
4. Bischloridodi{triphenylphosphine)nickel(ll)
Options :

85133014933. 1

85133014934.2

85133014935. 3

85133014936. 4

Question Number : 134 Question Id : 8513303737 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

[NICl>(PPhs),] @1 Ue! SISgUITH! (IUPAC) ATH

1. forgaaiist - fag [c‘i'ﬁ'—hl"lﬂ BT ""|1 b - (11)

2, ’ﬁﬁﬁﬂ@[ ﬁ?lrcaaual o TEnRiE) e - (1
3. SRAINISISTS (ISP BRWIE) FHd - ()
4. feUaaigian (@R b-d BrRpble) b - (1)
Options :

85133014933. 1

85133014934. 2

85133014935. 3

85133014936. 4

Question Number : 135 Question Id : 8513303738 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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The molarity of an antifreeze solution prepared by mixing 236 g of ethylene glycol (C;HgO3)
and 300 g of water is

(Given: density of solution = 1.072 g/mL)

1. 845 M

2. 9.10M
3.761M

4. 14.06 M
Options :
85133014937. 1
85133014938. 2
85133014939. 3
85133014940. 4

Question Number : 135 Question Id : 8513303738 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
2369 TR TSI (CoHs05) TYT 300g 9cl &1 Hed -1 T UidieH (antifreeze) a0 @I
HieRal BRIl - (f&a1 711 8 : faeid- &1 99 = 1.072g/mL )

1.845 M
2.9.10M
3.761TM

4. 14.06 M
Options :
85133014937. 1
85133014938. 2
85133014939. 3
85133014940. 4

Question Number : 136 Question Id : 8513303739 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

For the dissolution of a solid in a liquid, choose the incorrect statement.

1. If the dissolution is endothermic, the solubility should increase with rise in temperature.

2. If the dissolution is exothermic, the solubility should decrease with rise in temperature.

3. Pressure affects the solubility of solids in liquids such that on increasing pressure, solubility
of solids in liquid increases.

4. Solute dissolves in a solvent if the intermolecular interactions are similar in the two.
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Options :

85133014941. 1
85133014942. 2
85133014943. 3
85133014944. 4

Question Number : 136 Question Id : 8513303739 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
U 54 1 U 819 & [dadd (dissolution) & o/, TeTd ®YH @I q - -

1. 3¢ fdeg= SRl & §f 90 & g6+ & 91y facogdr sg-1 9ifet|

2. 4fe faag el 8 di d1d dg- 4 fadadr ge-il 9|

3. 5d 4 3/ @1 [aaadl &l 19 UHIfad &idl o | 918 GId & 961 UX 54 § o149 @I [aaddl sgdl o
4. facma® # fao gadi 8 afe siavreue == fbar aHf § ue ol 8

Options :

85133014941, 1

85133014942, 2

85133014943, 3

85133014944 4

Question Number : 137 Question Id : 8513303740 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Choose the incorrect statement from the following

1. Standard boiling point of a liquid is slightly lower than the normal boiling point.
2. Boiling does not occur when liquid is heated in a closed vessel.

3. The SI unit of coefficient of viscosity is kg m™ 577,

4. When the attractive forces between molecules of a liquid is large, the surface tension is low.
Options :

85133014945. 1

85133014946. 2

85133014947. 3

85133014948. 4

Question Number : 137 Question Id : 8513303740 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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19 5 ¥ TTod &YE gHT:

1. U §d & HI-o BYFI® 9SG H HUAD 4 YISl &4 aidl 2

2. id g4 fodl d¢ U ° TRY fo5d 9dT § Al SYHIE ol sidl o

3. YY1 Ul B Ud® & kg m™' s

4, 9Iq fordl 5a & T & oid MTHYY 91 318 Bidl & df U8 719 4 sl ¢ |
Options :

85133014945, 1

85133014946, 2

85133014947. 3

85133014948, 4

Question Number : 138 Question Id : 8513303741 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Match List | with List Il

List | List Il
Graph Law
P, A. Boyle's law
P
Wolume
B=
=300 X
Tenmperature ("C)
1. v, B. Avogadro’s law
'I"'IIZ
Pressure
(bar)
V<V,
0 Temperature (K)
1. 3 C. Charle’s law
T
Pressure
TvsTs
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1Molume

V. D. Gay-lLussac’s law

Volume

Mumber of moles of gas

Choose the correct answer from the options given below

1. 1-D; U-C; [1-A; IV-B

2. I-G; 1I-D; llI-B; IV-A
3. I-C; 11-D; 111-A; IV-B
4, 1-D; 1-G; 1I-B; IV-A

Options :

85133014949. 1
85133014950. 2
85133014951.3
85133014952. 4

Question Number : 138 Question Id : 8513303741 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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®IcH | 1 6 718 91! @1 drad 11 H f6g 70 394 geftd Fgaf 9 gaitd S

EANER PIciH 1

o
/ﬂ_'
s CE s, A. ST @1

-300

Temperature ("C)

V.,
V;
Pressure
i, @ 8 B. SAMTS ! &1 a9

2

Temperature (K}

T;
/ T,
S
Il.  Pressure / C. 91 ol FEm
| 5

1olume

Iy, Youme / D. 7l - IS &I H9H

.
/

Number of moies ofgas

ol [dded @1 g-1d DIferT :

1. 1-D; 0-C; lI-A; IV-B
2. I-C; 11I-D; 111-B; IV-A
3. I-C; 1I-D; 11-A; IV-B
4. 1-D; 1I-C; 11-B; IV-A
Options :
85133014949. 1
85133014950. 2
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85133014951. 3
85133014952. 4

Question Number : 139 Question Id : 8513303742 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
3 moles of helium gas at 1 bar is compressed reversibly and isothermally at 400 K to 10 bar
pressure. What is the work done (in J) on the system if R = 8.314 JK™' mol 17

. 2.29 x 104

. 2.29 x 107°
-2.29 x 10*
~2.29 x 1074
Options :
85133014953. 1
85133014954. 2
85133014955. 3
85133014956. 4

oW

Question Number : 139 Question Id : 8513303742 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

1 bar qld U< a;::‘ g T & 2 moles B ScpHUTY 34T THAUT TU T 400K TR 10bar old d&
WWWI Mo 1 fea Th & fl!r% -R=8314JK " mol:

. 2.29 x 10°

. 2.29 x 107°
-2.29 x 10*
~2.29 x 1074
Options :
85133014953. 1
85133014954. 2
85133014955. 3
85133014956. 4

Bowo

Question Number : 140 Question Id : 8513303743 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Choose the incorrect statement out of the following.

1. Molar heat capacity is an intensive property.

2. AS > 0 for an isolated system (AU = Q).

3. Bomb calorimeter is used to measure the heat absorbed at constant volume.
4. Pressure, volume and work done on the system are state functions.

Options :

85133014957. 1

85133014958. 2

85133014959. 3

85133014960. 4

Question Number : 140 Question Id : 8513303743 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

19 & I 7Tad By &1 gA1d Do :

1. HRR FHHTETRA] UHHE Wod qUHH g

2. Uw fagad Ao/ (AU = 0) B T As = 0

3. R 3Mges W AW S & A9H & g 90 Sariand! Tgad sidl g
4. T1E A9 Y1 UF oF W (601 T &1 G Bad o

Options :

85133014957. 1

85133014958, 2

85133014959, 3

85133014960. 4

Question Number : 141 Question Id : 8513303744 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Correct statement for the given reaction

Cr, 0, (aq) + 50;,* (aq) = Cr**(ag) + 50." (ag)
is.

1. Generally SO47 is not a reducing agent

2. Cr**can be further reduced in this reaction
3. Oxidation by SO3*" gives Cr**

4 In Cr;D;E' oxidation state of Cr is not +6

Options :
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85133014961. 1
85133014962. 2
85133014963. 3
85133014964. 4

Question Number : 141 Question Id : 8513303744 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
< 8 Afifrw & fou Tel sy & -
Cr,0,° (ag) + 50;* (aq) = Cr**(aq) + 50, (aq)

1. 5042 UdH AUIUE ol

2. 39 fYfpar H ¢+ &1 AR U994 76 &l 9@dl g
3. 5052 ERT S 4 ¢’ fRd siar g

4. Cry07%  Cr @1 RIS 3aT +6 -Tel &
Options :

85133014961 1

85133014962, 2

85133014963. 3

85133014964, 4

Question Number : 142 Question Id : 8513303745 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Match List | with List 1l

List | List Il
Reaction Enzyme
Starch — Maltose A.  Zymase
Il. Glucose — Ethyl alcohol + CO, B. Diastase
IIl. Sucrose — Glucose + Fructose C. Maltase
V. Maltese — Glucose D. Invertase

Choose the correct answer from the options given below

1. 1-C; 1I-A; 11-0; IV-B
2. 1-A; 11-D; 1l1-B; IV-C
3. I-G 1I-D; I-A; IV-B
4. 1-B; lI-A; -D; IV-C
Options :
85133014965. 1
85133014966. 2
85133014967. 3
85133014968. 4

Question Number : 142 Question Id : 8513303745 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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&I | 1 68 10 Hffpars 1 3@ aie $3- ard Tl & 9/ & &ad 1| H 8, gHied
ﬁ'ﬁﬁlﬁ:

DI | HIcH Il

. % — Al A, STSHS
II. Tl — URTUeIBld + CO; B. ST
11l GhIe — Tl + Thaerg C. flced

V. Aleei] — Tl D. 31deg
el famed & -

1. I-C; lI-A; 1I-D; IV-B
2 I-A; 11-D; 11-B; IV-C
3. 1-C; 1I-D; llI-A; IV-B
4. I-B; II-A; - IV-C
Options :
85133014965. 1
85133014966. 2
85133014967. 3
85133014968. 4

Question Number : 143 Question Id : 8513303746 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which of the following method is not used for the coagulation of lyophobic sols?

1. Bredig's Arc method

2. Electrophoresis

3. Addition of flocculating ion
4. Persistent dialysis

Options :

85133014969. 1

85133014970. 2

85133014971. 3

85133014972. 4

Question Number : 143 Question Id : 8513303746 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Page - 160


https://link.testbook.com/bQQ2EkH1bpb
https://link.testbook.com/bQQ2EkH1bpb

\

g faftrt o @19 1 fafy ga [l 9id & e & v 98l ugad el & 2
1. S 3T o Al

2. 3GgadU - YaeH

3. 30 & ad AT & A
4 TH R 3OiE

Options :

85133014969. 1
85133014970, 2
85133014971. 3
85133014972. 4

Question Number : 144 Question Id : 8513303747 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The decomposition of dimethyl| ether obeys the following rate law

CH30CH,(g) — CH,(g) + H,(g) +CO (g)
e 3"".-
rate = k(Pcy oca,) '*

The rate of the reaction is followed by monitoring the increase in pressure in a closed vessel.
If pressure is measured in bar and time in min, then the units of rate and rate constant,
respectively are

1. bar 32 min~1, bar min™"
2. bar min~7, bar~ 42 min~'
3. bar min~’, bar 2 min
4, bar "2min-1, bar min~!
Options :

85133014973. 1
85133014974.2
85133014975. 3
85133014976. 4

Question Number : 144 Question Id : 8513303747 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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SIEHIT SR @1 e 5 &Y 99 &1 S8 ol 6 -

CH30CH,(g) — CH,(g) + H,(g) +CO (g)

le
G -rate = k(pcy, ocn, ) 2

HHTSHTT & R BT TS §6 U 1 18 @I 3G H A-1ex o1 711 81 37E €19 B bar H 791 T
@I min H A19T S1d1 81 I G2 aUl &2 Fadi® © Uohd HH: 6 -

=37 R, | S
1. bar*2min~', bar min~'

2. bar min~7, bar~ 12 min~1
3. bar min~’, bar 32 min
4, bar-"?min-1, bar min~’
Options :

85133014973. 1
85133014974. 2
85133014975. 3
85133014976. 4

Question Number : 145 Question Id : 8513303748 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
For a first order reaction, the relationship between the time required for 99% completion of
reaction (tggg) and the time required for completion of 90% of reaction (tpgg) is

1. 1990 = 10tp09
2. 1990 = 2tp9g
3. togg = 10tpgp
4. tgg0 = 2tpgo
Options :
85133014977. 1
85133014978. 2
85133014979. 3
85133014980. 4

Question Number : 145 Question Id : 8513303748 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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TYH @Ife SHRE & e fHfeHa & 999% & QUi BH & [o1U ATaRdh THY (tg.9) TYT HTHERTT
$9D%$@ﬁﬁ$mmﬁﬂq{tggg]$3ﬂﬁﬂlﬁ*ﬂ% -

1. tggo = 10tg0g
2. tggo = 2tpgg
3. tggg = 10tggp
4. tpgo = 2tgap
Options :
85133014977. 1
85133014978. 2
85133014979. 3
85133014980. 4

Question Number : 146 Question Id : 8513303749 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The solubility of Sr{OH); at 298 K is 20 g/L of solution. The pH of this solution will be

(Given: molar mass of Sr = 88 g/mol; log 40= 1.60; and log 122 = 2.086)

1.13.51

2. 048
3.10.22

4. 11.25
Options :
85133014981. 1
85133014982. 2
85133014983. 3
85133014984. 4

Question Number : 146 Question Id : 8513303749 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
298 K I, Sr(OH); I [daiddl 20g /L [Aag4 81 59 fga8d &1 pH Bi1l ([GT1 71§ - Sr &1 HIeR
«0dHH = 88g/mol ; log 40= 1.60; d4l log 122 = 2.086)

1.13.51
2. 048
3.10.22
4.11.25
Options :
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85133014981. 1
85133014982. 2
85133014983. 3
85133014984. 4

Question Number : 147 Question Id : 8513303750 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

On addition of 50 mL of 0.7 M CH3COOH solution to 25 mL of 0.1 M NaCH, the pH of the
solution is

(Given: K, of CH3COOH = 1.77 x 1072 log1.77 = 0.248)

1. 925

2. 475

3. 4.01

4,818
Options :
85133014985. 1
85133014986. 2
85133014987. 3
85133014988. 4

Question Number : 147 Question Id : 8513303750 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
€ 0.1 M CH3;COQH @ 50ml @I 0.1 M NaOH @ 25ml & T1Y 3ififefa fear siar & af urd
faea @1 pH BT - (flGTT TAT© - CH;COOH & K, BT HM = 1.77 % 1073 log1.77 = 0.248)

1. 9.25

2. 4.75

3. 4.01

4,918
Options :
85133014985. 1
85133014986. 2
85133014987. 3
85133014988. 4

Question Number : 148 Question Id : 8513303751 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

Which one of the following statements about a mercury cell is incorrect?

1. Zinc-Hg amalgam acts as anode.

2. Paste of HgO and C acts as cathode.

3. Paste of KOH and ZnO is used as electrolyte.

4. Cell potential is 2.50V and it keeps on decreasing with the life of the cell.
Options :

85133014989. 1

85133014990. 2

85133014991. 3

85133014992. 4

Question Number : 148 Question Id : 8513303751 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
i} Ta 4 Uefed g § O & U9 H9T © -

1. [ - Hg MM TS &1 Yifd &1 Hdl o

2. HgO T4 C @1 U HYls &I Hifd &H Bdl ol

3. KOH TYT ZnO &1 U fdggd 3uucy @i Hifd ®1d el ¢

4, 9 &1 faYd 2.50 V & YT 58 40 & dhoa & 91y 92d] Sl 8|
Options :

85133014989. 1

85133014990. 2

85133014991 3

85133014992. 4

Question Number : 149 Question Id : 8513303752 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
For the cell, Fe | FeZ* (0.1 M) I Cd?* (0.001 M) | Cd (s), the EMF (in Volt) at 25 =¢ is.

(Given: E%p2t jpe = —0.44V  ;  ECpze,0p = —0.40 V)

1. -0.7811
2. -0.0191
3. 0.3561
4. -0.4651
Options :
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85133014993. 1
85133014994. 2
85133014995. 3
85133014996. 4

Question Number : 149 Question Id : 8513303752 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
25 °C W, Td Fe | Fe2* (0.1 M) || Cd2* (0.001 M) | Cd (s), BT EMF (@e2 ) BT -
(G TS ; Bt gy = —044V 5 E% 24,0y = —0.40V)

1. -0.7811

2. -0.0191

3. 0.3561

4, -0.4651
Options :
85133014993. 1
85133014994. 2
85133014995. 3
85133014996. 4

Question Number : 150 Question Id : 8513303753 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Litmus solution, when shaken with charcoal, becomes colourless. Which one of the following
statements about adsorption from solution phase is incorrect?

1. Extent of adsorption depends on the concentration of the solute in sclution.

2. Extent of adsorption increases with increase of surface area of the adsorbent.

3. Extent of adsorption decreases with the decrease in temperature.

4. Extent of adsorption depends on the nature of the adsorbent and the adsorbate.
Options :

85133014997. 1

85133014998. 2

85133014999. 3

85133015000. 4
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